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V04-000 MODULE = XWDRIVER 8-3Eh-1984 00:51:38 DRIVER.SRCIXWORIVER.MAR;1 o (| VO4-
.SBITL MODULE - XWDRIVER |
.TITLE XUDRIVSR = BSC DUP11 Device Driver |
IDENT  *'V04-000" |
|
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COPYRIGHT (¢) 1978, 1980, 1982, 1984 BY
DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS.
ALL RIGHTS RESERVED.

THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED
ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE
INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER
COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY
OTHER PERSON. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS HEREBY
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THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT NOTICE

;* AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT

CORPORATION.

:* DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF TS

SOFTWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY DIGITAL.
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8 8 : Modified by:
000 3 v03-003 xDM0002 Kathleen D. Morse 28=Jun=1982
08 8 : Added SDCDEF, SDYNDEF, SPRDEF, and $SSDEF.
0000 : v03-002 MMD0002 Meg Dumont 4=Jun=-1982 11:16
88 8 ; Fix UCBSW_INT to be UCBSM_INT.
0000 : v03-001 MMD0001 Meg Dumont, 19-May-1982 14:46
88 8 : Add known fixes from XJDRIVER to this driver
0000 40 ;
0000 41 ;
80 0 &2 ; MACRO LIBRARY CALLS
000 2 3
8 8 4 $XWDEF
000 4 SEBCDEF
008 4 $SCRBDEF :DEFINE CRB OFFSETS
00 4 SOCDEF sDEFINE DATA TYPES
0 4 $DDBDEF sDEFINE DDB OFFSETS
0 SOPTDEF :DEFINE DPT OFFSETS
0 SOYNDEF :DEFINE DYNAMIC DATA STRUCTURE TYPES
00 $10BDEF sDEFINE IDB OFFSETS
00 $I10DEF sDEFINE 1/0 FUNCTION CODES
g}?gg%; :DEFINE IRP OFFSETS
$SMSGDEF :DEFINE SYSTEM MESSAGE TYPES
0 $PCBDEF sDEFINE PCB OFFSETS
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V0o2000 MODULE = XWDRIVER §-3EP-1984 00:5%:38 YoXTVER.Mack § o8 | V04
gs $PRDEF sDEFINE PROCESSOR REGISTERS
SUCBDEF +DEFINE UCB OFFSETS
60 SVADEF sDEFINE VIRTUAL ADDRESS FIELDS
§ gi SVECDEF sDEFINE VEC OFFSETS
6 ;
8§ gls- ; LOCAL SYMBOLS
88 g; ; ARGUMENT LIST OFFSET DEFINITIONS
00 68 °
8800 080 888 93 P1=0 sFIRST FUNCTION DEPENDENT PARAMETER
000004 0 P§=4 SECOND FUNCTION DEPENDENT PARAMETER
00000008 8000 71 P3=8 sTHIRD FUNCTION DEPENDENT PARAMETER
0000000 000 7; P4=12 sFOURTH FUNCTION DEPENDENT PARAMETER
0000001 8000 73 P5=16 sFIFTH FUNCTION DEPENDENT PARAMETER
= sSIZTH FUNCTION DEPENDENT PARAMETER
00000014 0888 ;g P6=20 l 1 T
0000 76 :
8888 ;8 ;s Error recording macro
0000 79 .MACRO PROTLO ERRNO
0000 80 MOVZBL #ERRNO,-(SP) : Put the error on the stack
0000 81 BSBW ERR_RECORD : Call the error recorder
8888 gg .ENDM  PROTLO
00000002 0000 84 REP=1+2 : Out of phase ACK after REP
00000004 0000 85 NAK=2+?2 s RECEIVED NAKS
00000007 0000 86 NAKOUT=3¢2!1 : Fatal nak retr
0000009 0000 87 BADACK=4+2!1 3 Out-of-phaso ACK other than as
000 88 3 responso to a ENQ
000008 0000 89 DSR_LOST=5+2!1 : DSR lost durring a buffer
0000000C 0000 90 GARBLED R;SP-b*Z 3 Unrccognizablc response to text
0000000 000 9N CON_RESP : Conversational response roceived
0000001 8000 9; REC axtosouc =8+2 : Receive block to on? or buffer
0000001 000 G RECTREP : Reply lost (ENO received
00000014 0008 94 REC_FORABORT=10+2 : Forward abort received (ENQ in text)
00000013 000 95 RECCTXTFORMAT=11+2 ; Block format undecipherable
8008001 0008 9 RECTDI gou-ith‘l : Disconnect received
000001A 0 g ABEOT=13+2 : Abnormal EOT (durring xmt text)
00 0 10 00 98 REPOUT=14#2!1 : Transmit retry threshold
0 99 SEN_RES_TIMOUT=15+ %'1 : Timout durring response
000000 100 TMO_XMT TXTBLK=16+ : Timout sending a text block
8 181 NAK_SENT=17+ : Nak transmitted
} g REP_SENT=18+ : Rep (ENQ) sent
00000012 8 184 NO_ERRORS= 18 ; Highest error number+3 rounded up
88 }os 3 LIST MEB
08 }g? :Define Device Dependent Unit Control Block Offsets
§ 1 g $DEFINI UCB
0000009C 119 =UCBSL D
8 1 SOEF UCBSL_XO_SPBF  .BLKL 1 : Short protocol buffer
A 11; SOEF UCBSL_XWTSYCNT .BLKL 1 : Sync count (also offline ct)
AbG 1N $OEF UCBSL_XW_ITBPTR .BLKL 1 : Internal CRC pointer
0A8 114 $ODEF UCBSB_XW_ITBCNT .BLKB 1 : Internal CRC count
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V02-000 MODULE = XWDRIVER 8-3E5-1080 §0:51:28 IORIVER. SRETTDRIvER.mri1 "% () V04
A9 115 SDEF  UCBSB_XW_TISTA .BLKB 1 : Interrupt state | |
AA 11? SDEF UCBSB_XW_RISTA .BLKB 1 : Receive interrupt state 1
AB 11 SOEF UCBSW_XW_LSTCSR .BLKW 1 : CSR at end of last_transfer :
AD }}3 $DEF  UCBSB XWERRORS .BLKB NO_ERRORS+2 ; Error tlll:ys + 2 bytes |
3 or current err r |
000000¢1 OOCT 120 ucBSK.SIZE=. et |
0c1 1 $DEFEND UCB
% i
00 } 5 % Device specific flags definition (for UCBSW_DEVSTS)
00000000 888 1 9 y UCBSV_XW_REP=0 ; Retry state
00000001 0888 } s UCBSM_XW_REP=*01 foss
00000001 0000 130 UCBSV_XW_AK1=1 ; ACK1 next
00000002 0888 } 1 UCBSM_XW_AK1=2 ; ACK1 next
00000002 8000 1 g UCBSV_XW_NAK=2 : NAK sent last flag
00000004 8000 134 UCBSM_XW_NAK=*04 -
0888 } z : to a long word
00000008 0000 137 UCBSM_XW_PIPE=*010 ; Cancel pipeline marker
0000000 8888 }gg : UCBSV_XW_PIPE=3
8338 140 ; DUP-11 CSR Offset And Bit Definitions
00000002 0000 14; ) DUP_CSR_RDBF =2 : Receiver data buffer
0000000 8000 14 DUP_CSR_PARM=? : Parameter register :
00000004 0000 144 DUP_CSR_TXCSR=4 : Transmitter command register
0000 0000 145 DUP_CSR_TXDBF=6 : Transmitter data buffer
00000002 0000 146 DUP_CSR_M_DTR=*02 : Data terminal ready
00000004 0000 147 DUP_CSR_M_RTS="04 : Request to send
0000001 000 148 DUP_CSR_M_REN=*020 : Receiver enable
0000004 000 149 DUP_CSR_M_RIE=*0100 : Receiver interrupt enable
0000008 000 150 DUP_CSR_M_RDN=*0200 : Receiver done
0000010 080 151 DUP_CSRM_SSY=*0400 : Strip SYN
00000200 0000 15; DUP_CSR_M_DSR=*01000 ; Data set ready
00002000 0000 15 DUP_CSR_M_CTS$=*020000 : Clear to send
0000800 000 154 DUP_CSR_M_BYM=*0100000 : Byte mode
0000001 000 155 DUP_CSR_H_SND=‘028 : Send
8000004 008 15? DUP_CSR_M_TIE=*0100 : Transmit interrupt enable
00 15 DUP_CSR_M_TDN=*0200 : Transmit done
888 1 8 8 1;8 DUP,CSR_H_RES=‘0488 ; Reset
1 1 DUP_CSR_M_SOM=*04 ;: Transmit start of message
00000 0 8 160 DUP_CSR_H,EOH=“01008 : Transmit end of message
00000 08 161 DUPZCSR_M_CRI=*0100 : CRC inhibit bit
000 0 16§ DUP_CSR_H_HDX=‘018 : Half duplex bit
00001088 00 16 DUP_CSR_M_ETM=*010000 ; Maintenance clock bit
000008 88§ }gg DUP_CSR_M_STM=04000 ; System (internal)loop mode {
80 }gg : Transmit interrupt state definition E
8880 0 88§ 168 ° TSTASIDLE=0 : No.interrugt expected
0 8 1 199 TSTASCTS=1 ; Wait for(CT
880 0 ; 8 8 170 TSTASSYN=2 : Transmit SYN |
00000 mn TSTASTEXT=3 : Transmit text i
|
|
|
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TSTA!ENDPAgsk : Transmit trailin? pad |
TSTASDIAG= ; Diagnostic (no CTS wait) state
TSTASDROPRTS=6 : Drop RTS state

: Receive interrupt state definition

.
’

0 RSTSIDLE=0 ; No interrupts expected
1 RSTSBINARY=1 ; Read until byte count runout
; RSTSFIRST=2 ; Starting state
RSTSNTTX=3 : Non=transparent text state
4 RSTSSTOP1=4 ; Last CRC byte
S RSTS$STOP=S ; Stop after next byte
9 RSTS$1T1B=6 : First b‘te of internal CRC next
0 RSTS1T1B1=7 : Second byte of internal CRC next
008 RSTSXPRTEXT=8 : Transparent text state
0009 RSTSDLE= : Control character or stuffed DLE next
000A RSTSXPRITB=10 : First byte of internal CRC next
00000008 RSTSXPRITB1=11 : Second ¥to of internal CRC next
0000000C RSTSDIAG=12 ; Diagnostic receive interrupt state
00000000 RSTSLOOP_TEST=13 ; Diagnostic slave Loop state

:DRIVER PROLOG TABLE

; DPTAB =
END=XW END,=
ADAPTER=UBA =

Define driver prolog table
End of driver
Adapter type

UCBS1ZE=UCBS$K_SIZE,- UCB size

NAME=XWDRIVER Driver name
DPT_STORE INIT Control block init values
DPT_STORE

UCB, =
UCBSB_ERTMAX,B.8 ; Retry count

[elolelelelelelelelele] 6.88

[eleleleleleleleleelelelele]
[elelelelelelelelelelelelele] [=l=l=]
23333333333338 838
lelelelelelele] [=l=l=
l=lelelelelelelelelele [=l=1=]
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DPT_STORE uiB,- ; Fork IPL
uce$s_FIPL,.B,8 |
DPT_STORE UCB,UCBSL _DEVCHAR,L,- ; Device characteristics bits
<DEVSM_AV[- ; Device avalable
'DEVSM_IDV- : Input device
0 'DEVSM_0DV> : Output device
004; DPT_STORE gcg xcssu,oevauréxz.- ; Device buffer size
004C DPT_STORE ufB,ucBsB_DIPL,B,21 ; Device IPL
0050 DPT_STORE REINIT ; Fields to reinit. at driver roload
0050 DPT_STORE gbgaggg¥L,DDT.- : Device dispatch table
§§§g DPT_STORE Sﬁgacg?z%-INYD+k.- : Receive interrupt entry point
085: DPT_STORE gﬁgatg?z%-INTDZOL.- ; Transmit interrupt entry point
ng DPT_STORE CRB,CRBSL_INTD+VECSL_UNITINIT,=- ; Unit initalization
855 D, XW_INIT
86 DPT_STORE END
000 :
0 : Driver Dispatch Table
8 y DDTAB XW,- : Driver dispatch table
0 XW_STARTIO,~ : Start 10 entry point
000 0.- : Unexpected interrupt
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3 XW_FUNCTABLE,~ : FDT Lable '
? XwW CANCELIO,=- ;s Cancel 10 Label
R; DUMP,~- ; Register dump routine
i 170,- ; Size of diagnostic buffer
? 17 ; Size of errlog buffer
S ;FDT tables for BSC DUP=11 driver
? XW_FUNCTABLE: 1
0 8 FUNCTAB ,- : Logal functions |
<READLBLK, - 3 logical block
40 READPBLK, - : Read physical block ‘
61 WRITELBLK,~ ; Write logical block {
0 6§ WRITEPBLK,~ ; Write physical block
0 & SETMODE , = ; Set mode

00 s SENSEMODE , - f

00 45 > {

8060 46 ; |
040 4 FUNCTAB ,~- 3 Legal functions

0040 48 <READLBLK,= : Read lo ical block

0040 69 READPBLK,~ : Read

0040 50 WRITELBLK,~ ; Write logical block

0040 51 WRITEPBLK,~ ; Write physical block

0040 Sg SETMODE ,~ ;s Set mode

0040 5 SENSEMODE , -

004 54 >

004 SS .

004 S% FUNCTAB XW WRITE,- : Write entr¥

004 S <WRITEPBLK- : Write physical block

004 58 WRITELBLK- : Write logical block

004 59 >

0054 60 ;

0054 61 FUNCTAB XW _READ,=- : Read processing entry .
054 6; <READPBLK~- : Read Yh sical block | |
054 6 READLBLK= ; Read logical block

0054 64 >

0060 65

006 6? FUNCTAB OEKESSETHODE.- ; Set mode

006 6 SETMODE
06C 6g 3
06C 6 FUNCTAB +EXESZEROPARM,~-

006C 70 SENSEMODE
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; ; 2 .SBTTL XWDRIVER Write FDT Routines
; ;g : XW_WRITE = WRITE FUNCTION PROCESSING
7 76 ; THIS ROUTINE IS CALLED FROM THE FUNCTION DECISION TABLE DISPATCHER TO PROCESS
§; ; : A WRITE LOGICAL OR WRITE PHYSICAL FUNCTION TO A DUP-11,
7 79 : INPUTS:
07 0.
07 1 RO = SCRATCH.
07 § s R1 = SCRATCH.
7 3 Ri = SCRATCH.
7 & RS = ADDRESS OF 1/0 REQUEST PACKET.
7 I R4 = CURRENT PROCESS PCB ADDRESS.
07 ? s RS = ASSIGNED DEVICE UCB ADDRESS.
07 3 R6 = ADDRESS OF C(CB.
07 ¥ R? = 1/0 FUNCTION CODE.
07 9. R8 = FUNCTION DECISION TABLE DISPATCH ADDRESS.
07 90 . R9 = SCRATCH,
007 91 ; R10 = SCRATCH.
007 92 : R11 = SCRATCH.
88; 3‘ : AP = ADDRESS OF FIRST FUNCTION DEPENDENT PARAMETER.
88; 85 : OUTPUTS:
007 97 . THE FUNCTION PARAMETERS ARE CHECKED AND A BUFFER IS ALLOCATED FOR THE
§8; 33 H DUP=11 DRIVER TO BUILD A MESSAGE INTO.
07 00
007 01 .ENABL LSB
007 02 XW_WRITE:
03 OD EF 807 0 EXTZV  #XWSV_IOMOD ,#XWSS_IOMOD,~ ; Extract the 10 modifier field
S0 20 A3 078 304 IRPSW_FUNC(R3) ,RO
07E 05 CASE RO,- : Dispatch on the modifier
07E 09 <XMT_BINARY,~ : Send until count runout
07€ 0 XMT_PTPBSC,~ ; Add point to point BSC control
076 308 BAD MODIF IER, -
07E 09 BAD_MODIFIER,~
0076 310 BADMODIF IER,~
807E 1" BAD_MODIFIER,~-
07E li BAD_MODIFIER,~-
007€¢ 1 XMT_DIAG,~ ; Full duplex diagnostic processing
; }g > : Last modifier
9 1? : Modifier was out of range so abort the request
09 17 ;
9 13 BAD_MODIF IER:
51 0080 8F 3; 09 1 MOVZWL #XWSM_ILLMOD,R1 ; Get device dependant status
00000000°GF 1 30 ? JHP G*EXESABORTI0 : Abort the request
38 i ; Send the users buffer with no processing
9D & XMT_BINARY:
S0 6C D 90 S MOVL P1(AP) RO : Get the user buffer pointer
51 04 AC D AQ , MOVL PS(AP).R1 : Get the user count
2t 1 A4 BEQL 108 : Complete now if zero count
00000000°GF 16 Ab 8 JSB G*EXESWRITECHK : Check the user buffer
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XoRIVER urite t

TR R
62 008BC 04 gs 2§ o(s 2
17 00C 5

00000000 GF

5% R

river
outines

JSB
MOvW
MOvVL
PUSHR
Mov(
POPR
JMP

"§3Ee- 1080 88:31:30  YORIVER.SREOSUBRIVER man: 1

A SET
PQ?AP! apsu ac tcng)
aIRPS VAP

#*M<RIR4 RS>

PZ(AP) ar!tar) (R2)
#*M<R3 R4, RS>
G‘Exsséloﬁavpxr

Allocoto and set up a buffer
Store the byte count
Get the systca buffer pointer
MOVC uses these

; Move the buffer

; Restore pointers
: Post the packet to the driver

Page

7
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(8 7 : '
Eg ig Format the users list of records into a bisync block
(B8 40 XMT PTPBSC
50 6C 0O (8 & MOVL P1(AP) RO ; Get user buffer pointer
51 04 AC D C i MOVL PS(AP).ll : Get user buffer count
D 1 D 4 BNEQ 208 : BR if not zero count
S0 0000°'8F 3C D 64 108: MOVIWL #SSS_NORMAL RO ; Get normal completion status
1 D4 D9 CLRL R1 : No device dependant status
00000000°'GF 17 D? 6 JMP G EXESFINISHIOC ; Complete the 10 request
00000000'GF 16 0%7 2 208: JSB G*EXESWRITECHK ; Check the user buffer descripter
§E; go ; Check the buffer chain
59 SO0 S1 C1 OQOE? 51 ° ADDL3 R1 ,RO,R9 ; Point to the end of the user buffer
S D& O0OEB Si CLRL : Set zero record count
59 0 §2 0ED S SUBL2 : Point before lLast count
58 g C OOF 5, 308:  MOVZWL (n6)+ R8 : Get the the count
S8 FFFF BF 81 O0OF §5 CMPW 1.R8 : Last count ?
1 13 00F S? BEQL S : yes = branch out
S D6 OOFA S INCL g : Step record count
FFEE SO S8 5 F1 OOF S8 ACBL R9,R8,R0,308 : f next count is in buffer
51 0040 8 3C 010 59 MOVIWL #XUSM BADCHAIN,R1 : Get bad buffer status
00000000°'GF 17 8}80 g? 408: JMP G*EXESABORTIO : Abort the operation
1 EO 010D 6; 508: BBS #XWSV_CHA XPR,= ; Is transparency called for
03 44 AS 10F 6 UCBSL “DEVBEPEND (RS) , XPRTxt
00A 3 11; 64 BRW NXPRTRT Go to nontransparent code
811 65 .DSABL LSB
115 69 ; Build a transparent text block
o}}g gl iPRTKT
S 04 AC 0 cS 8115 69 HULLB g P2(AP) ,.R1 ; Get the count
5¢ 0 €& 011A 70 MULL2 # : Each record needs 7 extra bytes
51 52 SO 110 71 ADDL R2, R1 : Get the total size
010€ 0 1 7 BSBW ALLOC SETUP : Get a system buffer
1 73 ; R9 -From data pointer
1 76 : R10 -To data pointer
1 75 ; R11 -Record count
0138 8F gB 1 7 PUSHR l‘!(ﬂ R4 RS ,RB>
58 20 A3 3¢ 01 7 MOVZWL msu FUNC (RS) ,R8 ; Save the function
7 D& 0128 78 CLRL -(SP) : No starting CRC
SA 2C B p0 0120 79 MOVL @IRPSL_SVAPTE(R3) ,R10 ; Set the to pointer
3 s 0 0131 0 MOVL P1(AP);R9 ; Set tho from pointer
C 0134 1 MOVZWL (R9) 1" > Get the first record.s count
8A 10 BF 0 0137 ; 108: MOVW #EBCOLE ! <EBCSTX*256>, (R10)+ : ALl records start with DLE STX
69 5B 6E O00000CAC'EF 1 CRC POLY TABLE.(SP).R11.1R9) ; Get the CRC on the Record
E 14 4 MOVW RO, (SP) : Save the CRC until end of record
69 8 1 A 0148 5 208: LOCC 056CDL£ R11,(R9) : Find any DLE in the data
3 014C 9 BEQL : BR if end of record and no CRC
1 D 14 INCL : Include the DLE in the ''found'’ data
02 F 1 g SOBGTR RD 308 3
D 1 DECL : Fla i D& E ended the record
g? ] 1 0 308: MOVL R Rll 3 Set remaining data count
50 1 91 SUBL3 : Get scaned data count
6A go 0 158 9; MOVC no (aé) (R10) : And move the data
G 1 D 16 9 MOVL R1.R9 : Set new from pointer
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gA S 8 163 94 MOVL R3,R10 ; Set new to pointer
e 128 95 MOVE c;écoue.cn1o»+ ; Stuff the DLE or end with DLE
S8 O 1 99 TSTL R11 : Is this the end of block
D 14 0168 9 BGTR 28& : NO =find more DLE.s
0 13 016D 93 BEQL 40% : It eql, was the end of the block
8A 10 90 19r 9 MOVE  #EBCDLE,(R10)+ : Else block ended with DLE, so stuff
1 400 : an extra DLE in for control character
58 39 B0 017 401 40S$: MOVW (R9)+,R11 : Get the next record count
S8 FFFF BF ai 175 & § cMPy  #-1,R11 : Is it the sentenal
T 170 & BEQL S0$ : BR if it is
6A 1F 98 17C 404 MOVB CSBCITB.(R10) ; Store a record seperator
Y 17F 485 B8SB 70% : Add the trcord end char. to CRC
8A 3232 BF go 131 4 9 MOVW #EBCSYN'!<EBCSYN*256>, (R10)+ ; Followed by SYN SYN sin
6E 018C'8F C 0186 40 MOVZWL #DLE_STX_CRC,(SP) ; Assume the next partial CRC
AA N 138 408 BRB 108 : Get another record
6A 26 90 018D 409 S0%: MOVB #EBCETB, (R10) : Assume not last block
2A E1 0190 410 BBC #108V_LASTBLOCK,= : Is it the Last block
03 g 0192 41 R8,60%
6A 03 90 019 41; MOVEB  #EBCETX, (R10) ; Set end of last block
15 10 0197 413 60s: BSB 708 : Include the block end chsr. in CRC
SE.__ 04 CO 0199 414 ADDL #4,SP : Remove the partial CRC
0138 8F BA 019C 415 POPR #*M<R3,R4,R5,R8>
2083 €2 01A0 416 SUBL2 @IRPSL SVAPTE(R3),R10 ; Get the block count
32 A3 SA 39 01A4 417 MOVW  R10,IRPSW BCNT(R3) : Save the byte count
00000000°'GF 1 8}:% 2}3 JMP G*EXESQIODRVPKT : Post the IRP to the driver
6A 01 04 AE O00000CAC'EF 0B 01As 420 70$: CRC POLY_TABLE,4(SP) ,#1,(R10) ; include the last chara. in the CRC
SA D6 018 421 INCL R10 ; Step by the last byte
8A S50 80 01BA & i MOVW RO, (R10)+ ; And store the last byte
05 O}gg 2 { RSB
§}gs 2 g ; Nontransparent record blocking and CRC generation
01BE 427 NXPRTXT:
52 03 C4 O01BE 428 MULL2 #3.R2 : Need count space +3 byte for each rec
¢ 04 €O 011 4%9 ADDL #4 ,R2 : Room for STX and Lluck
51 52 04 AC Al 81C6 430 ADDW3  P2(AP) ,R2,R1 : get eventual size
0065 30 01C9 &% BSBW ALLOC_SETUP ; allocate and set uB a system buffer
0078 BF gﬂ 01cCC &3§ PUSHR  #*M<R3,R4,RS5,R6> ; save the FDT call reg. setup
sg go Ag C 3100 43 MOVZWL IRPSW_FUNC(RS),R6 ; Get the 10 function & mod.
5 c8 DO 01D& 434 MOVL @IRPSC_SVAPTE(R3) ,R3 ; Get the system buffer pointer
83 02 90 01p8 435 MOVB #EBCSTR, (R3)+ : Start the block with a stx
S8 6C go 1B 436 MOVL  P1(AP),R11 : Get the user buffer pointer
52 C 1D§ &g? 108: MOVZWL (R11)+,R2 : And the first record count
52 FFFF 8F B1 O01E 438 CMPW #-1.R2 : Is it the sentenal
3 13 153 439 BEQL 40% : BR if it is
59 S 70 01E 440 MOvaQ RS.R9 ; Save the start of rec. ptr. &cnt.
63 68 28 01EB 441 MovC RZ2.(R11),(R3) : Move the record into the sys. buf.
1EF A6§ : R1- start of next record, R3- end of this record
S8 S1 DO O1EF 44 MOVL  R1,R1 : Save a pointer to next record
S9 D6 O01F2 444 INCL R9 : Include the record end character
1F& 445 : (not yet added) in the count
63 1IF 90 O01F& 44? MOVB #EBCITB, (R3) : Add an ITB to the block
68 FFFF BF ?1 167 &4 chew  #-1,(R11) : Is this to be end of block
A 1FC 4&3 BNEQ 308 ;s BR=- if it is ITB CRC CRC
63 6 9 IFE 44 MOVB #EBCETB, (R3) : Assume intermediate block
A E1 0201 450 BBC #108V_LASTBLOCK, = : BR if not last block
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03 3 451 R6,30% '
3 g 90 § 4 MOVB #EBCETX, (RD) : Add an ETX to the block
6A 59 00 OOOOSCAC'EF 08 ? 4 g 308: CRC POLY_TABLE.#0,R9,(R10) : Get the crc for the whole record
1 454 ; after the CRC instruction rO=CRC
11 455 ; and R3 points after the Last byte
gg 3 88 " AS? MOvw RO, (R3)+ : Store the CRC in the block
83 328 B 14 &5 MOVW NEBCSYN!<EBCSYN*256>, (R35+ ; Start each record with syn=syn
1" 19 458 BaR 10% : Do next record
1 %25 3 18 459 408 SUBLS #2.R3.R1 : Point after Last CRC (before syn)
0078 BA 021F 460 POPR #*M<RS,R4,.RS,.R6>
§1 2083 ¢ 3 461 SUBL2 @IRPSL SVAPTE(R3),R1 ; Calculate the count
2 A3 1 B 4 46; MOVW R1,IRPSW BCNT(R3) : And save it in the IRP
00000000 GF 1 ' ? 22‘ JMP G EXESQIODRVPKT ; Queue the packet to the driver

e ————————————————————————— —
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1 466 :
} 229 ; Allocate and set up a system buffer utility
1 493 ALLOC_SETUP:
53 DD 1 470 PUSHL R3 ; Save the IRP pointer ,
N I 3 4N ADDL 2./ : include overhead size |
00000000°'GF 16 6 47; JSB G‘EXSSBUFOUOPRC ; Does the user have quota '
08 50 ?9 g “ 4 BLBC RO,10$ : BR if not
0000000 -gr 3 Foo47% JSB G*EXESALLOCBUF : Get the buffer
3 BED &5 475 10%: POPL R3 ; Get back the IRP pointer
1€ 50 E9 L8 476 BLBC RO,20% :BR if allocation failure
Ag gZ 08 B 477 MOVL R2,IRPSL_SVAPTE (R3) :Save the new buffer pointer
A 1 B 4F 478 MOVW R1,IRPSW BOFF (R3) : Save the no. bgtcs allocated and charged
S0 0080 gﬁ DO 0253 479 MOVL PCBSL_JIB(R4),RO : GET JIB ADDRES
0 AO 1 82 0258 480 SUBL R1 J%BSL YTCNT(RO) ; Charge process for buffer
2 0C A2 3 025C 481 MOVAB 12(R2),(R2)+ :Set up pointer to first byte of buffer
62 6C DO 026 48§ MOVL P1(AP),(R2) ; Set up pointer to start of user buffer
40 A3 04 AC BO 026 48 MOVW P2(AP) ,IRPSW_ABCNT(R3) ; Save the users transfer count
05 D583 48 -
SE 04 CO 0269 486 20§8: ADDL "6 ,SP ; Pop the return off the stack 1
00000000°GF 17 026C 487 JMP GEXESABORTIO : Abort the operation
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7 489 ; ;
§ ; 2§? ; Diagnostic full duplex read/write FDT processing ;
12 492 kMT_DIAG; |
SO OB AC 7D 7 49 Mova P3(AP) RO : Check the read buffer
ooooggoo'cr 16 0276  49% JSB G*EXESREADCHK s |
6C 70 7C 495 MOva P1(AP) RO : Check the write buffer |
00000000 GF 16 7F 499 JSB G EXESWRITECHK 3 ava -;
OC AC 04 AC (1 gS 49 ADDLY P2(AP),P4(AP) ,R1 : Get the total buffer count !
A3 AF 16 08B 498 JSB T ALLOC §£1g9 : Allocate a system buffer |
62 08 AC DO g 499 MOVL P3(APY, (R2) : Set receive buffer addr. for e
0 ;: 10 completion code E
32 A3 C Ag 3C 9 1 MOVIWL P4L(AP),IRPSW BCNT(R3) ; Set the rec. count ;
50 0OC AC c8 c1 029 i ADDL 3 SIRPSk-SVAPIE(R”.PI.(AP).RO ; Get the transmit pointer |
38 gg 029D gO PUSHR #*M<RI, R4 RS>
60 00 BC 04 AC 029F 504 MOVC  P2(AP).aP{(AP), (RO) ; Move the transmit data
38 BA 02AS 505 POPR #*M<RI, R4 ,R5>
00000000°" GF 17 02A7 506 JMP G*EXESQIODRVPKT : Queue the packet to the driver
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AD 508 .SBTTL XW/DUP-11 Read FDT Routines |
:g }? ; XW_READ = READ FUNCTION PROCESSING ;
AD 15 s THIS ROUTINE IS CALLED FROM THE FUNCTION DECISION TABLE DISPATCHER TO PROCESS |
:g }‘ s A READ LOGICAL OR READ PHYSICAL FUNCTION TO A DUP11 DEVICE. 1
§ AD 15 ; INPUTS: {
AD 16 ; :
02AD 17 : RO = SCRATCH. ‘
02AD 13 3 R1 = SCRATCH. a
8 AD 19 ; Ri = SCRATCH. '
JAD 0. R3 = ADDRESS OF 1/0 REQUEST PACKET.
02AD 1: R4 = CURRENT PROCESS PCB ADDRESS.
8 AD i : RS = ASSIGNED DEVICE UCB ADDRESS.
AD 523 ; R6 = ADDRESS OF CCB.
02AD 524 ; R7? = 1/0 FUNCTION CODE.
02AD 5¢5 R8 = FUNCTION DECISION TABLE DISPATCH ADDRESS.
02AD 526 R9 = SCRATCH.
02AD 527 : R10 = SCRATCH.
02AD 528 ; R11 = SCRATCH.
8%28 g 3 H AP = ADDRESS OF FIRST FUNCTION DEPENDENT PARAMETER.
8%:8 §§1 s OUTPUTS:
02AD 53§ 3 THE FUNCTION PARAMETERS ARE CHECKED AND A BUFFER IS ALLOCATED FOR THE
O%AD 534 ; DUP=11 DRIVER TO RECEIVE A MESSAGE INTO.
02AD 535 ;- ;
02AD 536
02AD 337 XW_READ: : :
03 0D EF Q2AD 538 EXTZV  #XWSV_IOMOD,#XW$S_IOMOD,- ; Extract the 10 modifier field
S0 20 A3 0280 539 IRPSW_FUNC(R3) ,R0
0283 540 CASE RO,- : Dispatch on the modifier
028 541 <REC BINARY,~- : receive until count runout
028 Sbg REC_PTPBSC,~ : Add point to point BSC control
OSB 54 > : Last modifier
FOD4 31 8 gg gzg BRW BAD_MODIFIER : Out of range function
8%3% 229 : Receive until byte count run out- no lLine protocol or data processing
02BE 48 .ENABL LSB j
8 gg gg REC_BINARY: ;
gg 21 : Receive data and manage point-to-point BSC line protocol
BE si REC_PTPBSC:
SO 6C DO B% 5S4 MOVL P1(AP) RO ; Get the user pointer
51 AC Dg C 55 MOVL PS(AP).R1 ; Get the users count
D 1 C; S? BNEQ 20% : Complete the request now if zero
1 4 C S7 108: CLRL R1 : No device dependant status
S0 ‘BF s 9 Ss MOVZWL #S5SS _NORMAL .RO : Get normal completion status
' GF CE S JWP G*EXESFINISHIOC : Return the packet
'Sf 16 D4 60 208: JSB G*EXESREADCHK : Check the user buffer :
ED DA 61 CAPZV  #XWSV_10MOD,#XWSS 10"00 - : |s this a binary operation
00 20 A D 6§ RPSW_FUNC (R3) ,#108K_SRRUNOUT |
0 13 E 6 BEQL 0% : BR if it is
51 &2 A5 X E 64 MOVZWL UCBSW_DEVBUFSIZ(RS),R1 ; Get the block size
S Se—— e
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51 22 § ES 65 ADD! n-:. m ; Room for 118 pointers |
FF E 6? 308: BSE« ﬁo ; Get a system buffer and set it up
32 A3 S1 OC A EC 6 SUBWY # lRPSU BCNT(R3) ; Save the transfer count |
00000000 GF 1 F1 68 408: JMP G EXESGIODRVPKT s Post the packet to the driver |
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LSBTTL Start I0 on the DUP-11

F?7 7
F7 71 :
;; ;i : XW_STARTIO = START 1/0 OPERATION ON THE DUP-11
F7 74 ; THIS ROUTINE IS ENTERED WHEN THE ASSOCIATED UNIT IS IDLE AND A PACKET IS
;; ;5 s AVAILABLE FOR PROCESSING.
:; ;9 : INPUTS:
02F7 78 : R3 = ADDRESS OF 1/0 REQUEST PACKET.
:; ? $ RS = ADDRESS OF DEVICE UNIT UCB.
F7 : OUTPUTS:
F7 g :
F7 & ; LOTSATEXT
02F7 S :
8 F7 9 ;e
F7
02F7 88 XW_STARTIO:
02F7 89 .ENABL LSB
54 24 AS DO 02F7 590 HOVL UCBSL _CRB(RS) ,Ré4 Get the DUP csr pointer
5 2cB4 DO 02FB 591 MOVL  @CRBSC_ xntooVECSL 1DBCR4S RG ; .un
00 ED Q2FF 59; CMPZV  #IRPSVTFCODE,~ -£s tﬁ is a set function
20 A3 og 0301 59 #1RPSS™ rcoos.xnpsu FUNC(R3) ,=-
2 0304 594 #10$_SETMODE
4 12 0305 595 BNEQ 50% : BR if not set
0307 596 :;
0307 597 ; Set mode
0307 g98 :
42 AS SA A3 BO 0307 99 MOVW IRPSL HED!A*Z(R; ,UCBSW_DEVBUFSIZ(RS) ; Set block size
& AS 3C A3 DO 030C 600 MOVL IRPSL_MEDIA+4(R3) ,UCBSL_DEVDEPEND(RS) ; Save characteristics
07 E1 0311 601 BBC #10SV_SHUTDOWN, - ; Is dorp lLine requested
08 20 A3 313 60 IRPSW FUNC(R3),10$
04 A4 0100 8F A8 0316 60 BISW #DUP_ TSR M_RES,DUP_CSR_ TXCSR(RL) ;Reset the DUP
33 1N og;g - ggg BHE 408 ~ : Complete the request
E1 031 606 108: BBC #10SV_STARTUP,- : Is enable Line requested
zs 20 AS 0 g 607 IRPSW™FUNC (R3) , 408
02 A8 0O 608 BISW #DUP_ CSR M_DTR,(R4) ; Assert DYR
64 0200 8F B8 0326 609 20%: BITW IDUP CSR H _DSR, (R&) s Is DSR wup
24 1 8 B 610 BNEQ 408 ~ : BR it it is
08 E D 6n 8BS #108V_NODSRWAIT - : Is a non wait diagnostic function here
1F 20 A3 F 61§ {apsu “FUNC (R3) ,40$
0097 30 i 61 BSBW : Send a line off message
614 DSBINT
2 615 WFIKPCH 3
4 619 308:  SETIPL ucaia FIPL(RS)
D8 64 AS 03 1 49 61 BBC #UCBSY_CANCEL ,UCBSW_STS(RS) 208 ; Cancel requested ?
0425 1 4LE 613 R CANCEL"CUR : Return this packet
0439 1 Sz 210 40$: BRW comp_cO0D : Complete the request
06 Og ED g& 621 508: CMPZV  #IRPSV_FCODE ,#IRPSS_FCODE,~ ; Is it a sense mode ?
27 20 A 7 6 § ;npsu FUNC(RS) ,#108SENSEMODE
SC 13 e 6 1 BEQL : BR if it is
SC g S : Sendlreceive request
SC 626 ;
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Start 10 on

Dev
the
68 A5 0O A 5 7 BICL #UCBSM_XW NAK'UCBSM XW_REP,UCBSW DEVSTS(RS) ; Reset status bits
0080 ¢S 0081 C 80 g§ § s R =gga UCBSB_ERTMAX(RS) ,UCBSB ERTENT(RSY ; Init the retry count
03 64 AS 0; 51 67 630 ~  "BBC #UCBSV_CANCEL ,UCBSW_STS(RS5),608 ; BR if not canceled
844 1 6C 631 BRW CANCEL _CUR : Cancel this [RP
009A ¢ A &8 F 6 § 608$: MOVW IRPSW_FUNC(R3) gcasu FUNC(RS) ; Save the function code for ELG.
78 A 8 D 5 6 MOVL S1RPSC_SVAPTE (R3) gCBSL SVAPTE(RS) ; copy buffer desc. to UCB
7€ A A3 B 7A 634 MOVW  IRPSW_BCNT(R3),UCBSW_BCRT(RS) ; ...
64 0200 8F 8 7F 635 BITW 002?-tsa,n_osn.(n&) : Is the Lline up
08 1 84 6 9 BNEQ 70 : BR if it is
Og E g 6 BBS #108V_NODSRWAIT = ; Is it a diagnostic bypass???2222?
06 20 A : 2 3 IRPSW_FUNC (R3) , 708
3 88 22? : The Line is not connected (no DSR) abort the request
8 Sg 6&; ABORT_NO_DSR:
51 g& g( 88 64 MovZuL #XWSM_NODSR,R1 ; Get no DSR status
042E 1 0 3; gzg BRW ABORT_CUR ; Conplete this IRP with abort status
03 0D EF 8391 646 708: EXTZV  #XWSV_IOMOD,#XWSS_IOMOD,- ; Extract the I0 modifier field
S0 20 A3 0394 647 IRPSWFUNC (R3) ,RO
08 2A A3 01 E1 0397 64 8BC #1RPSU_FUNC,IRPSW_STS(R3),808 ; BR if a write
039C 64 CASE RO,~- ; READ dispatch on the modifier
039C 650 <REC_INI_BINARY,- : Send until count runout
039C 651 REC_INI_PTPBSC,~ ; Add point to point BSC control
039C 65; > : Last modifier
OgAL 653 80s: CASE RO,- : WRITE dispatch on the modifier
03A4 654 <XMT_INI_BINARY,- ; Send until count runout
03A4 655 XxMT_INI_PTPBSC,~ ; Add point to point BSC control
03A4 65? ABORT_COR, -
03A4 65 ABORTCUR., -
3AL 658 ABORT_CUR,~-
gA‘ 659 ABORT_CUR,~-
Ab 660 ABORT _CUR,=
03A¢ 661 XMT_IRI_piAG,- ; Start a diagnostic QIO
8;33 ggg > ; Last modifier
0§§8 22; : Sense mode
S1 &4 A5 DO g 66? d0s: MOVL UCBSL _DEVDEPEND(RS) ,R1 ; Get the device char.
51 04 CA C 66 BICL #XWSMTCHA _DSR,R1 : Assume no DSR
64 0200 BF sg F 66 BITW cogr,tsn_n_osﬁ.(n4) : Is DSR up ?
83 1 C4 6; BEQL 100% 3 f not
51 4 gl Cs 6 ? BISL #XWSM_CHA_DSR,R1 : Mark DSR active
03C3 1 C 671 1008: BRW COMP_GOOD_AB : Return the IRP with status
c o8
EE g;g : Send a message to the operator
0018 00A0 C5 01 OF 9 cC 679 f108: aces #15,#1,UCBSL _Xv §VCNT(RS).1303 ; Time for a message
00AD C5 94 D& 67 CLRB uces$ _XW_SYCRT(RS) : Reset the ncssa?o counter
S0 05 9A D8 673 MOVZBL #MSGS DEVOFFLIN,RO ; Get a device off Line message
18 eg DB 679 1208: PUSHR  #*M<R3,R&>
5« 5 DD 680 MOVL RO, R4 ; Set uﬁ the message no.
53  00000000°GF 9 eg 681 MOVAB  G*S$YSSGL _OPRMBX,R3 : Get the operators box no.
00" GF 16 E 6 JSB G*EXESSNDEVMSG : And send it
18 BA ED 6 POPR #*M<R3 RG>
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10 on the DUP=11 g-s P-1gg£ 88:51:38 DRIVER.SRCIXWDRIVER.MAR;1 ’
; ? .DSABL LSB
; s sReceive until byte count runout with no protocol or processing set up code
F 8 ? REC_INI_BINARY:
F 9 BICW FUCBSM XH PIPE BSU_DEVSTS(RS) Reset any abort pipeline mark
Fé g9§ MOVB #RSTSBINARY,UCB W RISTA(RS) : Sct interrupt processor state
F9 9 BBC IIOSX SLAVLbOP.IRPSU FUNC(R3),108 ; Is this a diagnostic lLoop
rs 9% MOVB  #RSTSCOOP_TEST,UCBSB XW_ axsnin ) : Set Loop state
4 95 10%: BSBW RCV_START™ : Start tho receiver
4 99 REC_BIN_WAIT:
4 29 WFIKPCH REC_BIN_TMO,#2 ; Wait for the receive to complete
41 9g 10FORK : Create a fork process
618 99 SUBLS @IRPSL_SVAPTE(R3),~- : Get the actual transfer size
41 0 UCBSL SVAPTE(RS) RO
613 701 MOVW RO, IRPSW BCNT(R3S : and set it for the iocompletion code
42 702 BRW COMP_GOOD : Return the packet to the user

(

8,
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L 4 '
2 g 5 ; Receive a buffer then check its' CRC and do the proper PTP BSC Line protocol
4 7 9 LENABL LSB
4 ; 8 REC_INI_PTPBSC:
0; E1 04 BBC #UCBSV_XW PIPE - ; is the cancel pipe active
06 68 A 4 ;10 UCBSW_BEVSTS(RS) 58
4 g 11 PIPE_MARK:
5 so C 04 71§ MOVIWL #XWSM_PIPE_MARK,R1 ; Get the pipe mark error
0391 1 0628 N BRW ABORT_CUR ;: And abort the current IRP
S0 T7E AS 4 714 5% MOVZWL UCBSW BCNT(RS).RO : Get the rec buffer size
50 Zg A 4 ;15 SUBW #8+4 R ; Remove the CRC pointers from count
51 SO 78 A C 4 1? ADDLS UCBSL _SVAPTE(RS) ,RO,R1 ; Point to the first CRC pointer
00A4 C5 51 DO 043A 71 MOVL  R1,UCBSL_Xxw_ITBPR(RS) : Set up the ITB pointer pointer
00AB C5 07 90 O043F 713 MOVE  #7,UCBSB XW_ITBCNT(RS) ; Init. the ITB count
0 DO e 1N DECL Ig : Save a byte for a count
7E AS 2 BO 0446 720 MOVW RO,UCBSW _BCNT(RS) : Set the receive buffer count
78 A 6 044A 721 INCL  UCBSL_SVAPTE (RS) : Save the count byte
g} 7% 2:? ; i Et:g {:};: : Init. the ITB pointer area
R + : ee e
I 5
00AA C5 0; 90 045 726 MOVB IRSTSFIRST.UCBQB_XH-RISTA(Rs) ; Set the starting int. state
049 30 045A 727 BSBW RCV_START ; Start the device
0450 728 REC_TEXT WAIT:
045D 729 QF IKPCH REC_TEXT_TMO,#4 ; Wait for the buffer to complete
0467 730 10FORK : Create a fork process
S1 2C B3 DO 046D [4)) MOVL SIRPSL_SVAPTE (R3) ,R1 ; Get the start of the buffer
S1 D 471 7 i INCL R1 : Skip the hidden byte
SO0 78A5 S1 473 7 SUBLY R1,UCBSL _SVAPTE(RS),R0 ; Get the no. bytes received
7EAS B5 0478 734 TSTW  UCBSW_BCRT(RS) ;: Did the byte count run out
09 14 0478 735 BGTR 108 : BR if not
8472 7 9 PROTLO REC_BKTOLONG
FEE1 3N 256 ; 4 BRW SND_REC_REQ : Reassign the buffer
S0 07 8686 739 108: DECL RO : Redice the buff. count b‘ one
52 81 90 0488 740 MOVB (R1)+,R2 : Get the first char. of the block
¢ 20 "N 88 741 CMPB ISBCENO.Rz : Is the Last response requested
1cC 12 35 76§ BNEQ 20$ : BR if not
4 74 PROTLO REC_REP
00BC 30 0496 744 BSBW SEND _RESP ; Set up the last response
0499 745 WF IKPCH REC_REP_TMO,#4
4A3 769 10FORK ; Create a fork process
FEBB 31 2:2 ;2 BRY SND_REC_REQ ; Reassign the buffer
52 37 91 04AC 743 208 : CMPB ISBCEOT.IZ : Is it an EOT
8? 12 Q4AF 7;0 BNEQ 30% : BR if not
5 C B1 7301 MOVZWL #XWSM_EOT,R1 : Get an EOT status
. 0308 1 g; ;Si BRW ABORT_CUR : Abort the packet
52 2 N LB7 7;‘ 308: CMPB ISECSTI.RZ ; Is it a STX
&4 12 04BA 755 BNEQ 7 : BR if not
FF A140 P 9N 4BC 7 9 CHPB #EBCENQ,-1(R1)[RO]) : Is it a T1D or abort
A li 4C1 7 BNEQ 50% : BR if not
FD A140 g o Cg 7 s CMPB 082(!7!.-3(!1)(R0] ;s Is the ENQ a CRC char. ?
13 C 7 BEQL S : BR if it is
FD A140 6 N CA 760 CMPB #EBCETB,-3(R1)[RO] R ol
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VO‘-&OS Start 10 on the DUP-11 g-SEP-19g6 88:51:3: DRIVER.SRCIXWDRIVER.MAR; 1 9 %g) VO
2C 13 25; % 1 BEQL 50% : BR if it is
2g} g g ;s TID or Forward Abort
51 3D 4D1 765 MOVZIBL #EBCNAK,R1 ; Get a NAK
03D 4D 769 BSBW _ XMT_START PRO1 ; And send it
47 76 WFIKPCH REC_FABO_TMO,#4
4E1 763 I10FORK : Create a fork process
SO 2C B3 DO O0Q4E7 79 MOVL OélPQL_SVAPTE(RS).RO : Get the olg buffer pointer
0 D6 O04EB 770 INCL B Point to first received byte
60 2002 BF B1 4E 7 CMPYW ISBCSTKE<EBCENO'256>.(RO ; Was it a TTD
6 13 04F 77; BEQL 40% Yes- only log aborts
F 77 PROTLO REC_FORABORT
FE6A 31 OQ4FA 774 40S$: BRW SND_REC_RE ; Reassign the buffer
3C Ag 86 4FD 775 508: CLRL IRPSL_MED]A+4(R3) : Start with no status
FD A140 O 1 sog 779 CMPB ISDCETX.- (R1)CRO] : Is it an ETX block
06 12 050 77 BNEQ $ : BR if not
2020 8F 3C 0507 778 MOVZWL #XWSM_ETXEND,~- ; Set the completion status
C A3 508 77 IRPSL"MEDIA+4 (R3)
0406 3 Og?g ;89 60$: BRW BLK_CRECK ;: Go do the CRC check
52 FF Al B0 8510 7§§ 708: MOVW -1(R1) ,R2 ; Get the first two bytes from the buff.
51 D6 0514 7 INCL ] : Step the buffer pointer
50 07 8516 784 DECL RO : And count
52 3710 8F B1 518 785 CMPYW ISBCDLE!<EBCEO!'256>.R2 : Is it a disconnect
0C 12 0510 789 BNEQ 80% : Br in not
S1F 78 PROTLO REC _DISCON
51 08 gc 525 788 MOVZWL #XWSM_DISCON,R1 ; Get a disconnect status
0294 1 Og g ;33 BRW ABORT_CUR ; Return the packet to the user
52 0210 8F 81 85 791 80s: CMPYW #EBCDLE'<EBCSTX*256>,R2 ; Is it xpr text
09 13 0530 ?9; BEQL 90% : BR if it is
5 793 85%: PROTLO REC_TXTFORMAT
FE2ZC 31 g ;33 BRW SND_REC_REQ ; Reassign the buffer
52 1000 8F 3C 05 796 908%: MOVZIWL #XWSM XPR, R2 ; Get transparent status
FD A140 03 91 0540 797 CMPB csacetx.-Scn1)ta01 : Is it the Last block
7 13 5S4 793 BNEQ 100% : Br if not
52 00002000 8 C S47 79 BISL #XWEM gTXEND R2 ; Save the status for the completion
3C A3 52 go 54 00 100$: MOVL  R2,IRPSL MEDIA+4(R3)  : ...
03BF 1 055 01 BRW BLK_CHECK : Check transparent text block
gg 8 .DSABL LSB
gg g ;s Set up response utility
55 9 SEND_RESP:
0; E1 055 B88C #UCBSV _XW _NAK, - ; Is a NAK called for
og 68 A 55 3 UCBSW_BEVSTS(RS),108
1 3 gA SSA 0 MOVZBL #EBCNAK,R1 ; Get a NAK message
0344 1 055 1? BRw XMY YAﬁI_PR 1 : Start the device and return to caller
01 E1 056 11 108 BBC #UCBSV XWTAK1, - : BR if an AK1 is needed
7 68 AS ge 1; UCBSW BEVSTS(RS),208
51 7010 8F {‘ 6 1 MOVZWL csgcocee<tacnxo-é 6>,R1 ; Get an AK?
5 1 056A 14 R 3 ; And send it
51 6110 8F gt gsc 15 igt: MOVZWL #EBCDLE'!<EBCAK1+256>,R1 : Get an AK1
0336 1 1 16 308: BRW XMT_START_PROZ2 : Start the device
|
|
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VO#-&OS Start 10 on the DUP=11 g*SEP-19S6 88:51:33 PRIVER.SRCIXWDRIVER.MAR;1 . (2)
74 18 ;
;: 18 : Timout during protocol response processing
74 ? (ENABL LSB
74 i REC_BIN_TMO:
8& 10 74 BSB 108 ; Call common timout processing
FEBD 31 057 4 BRW REC_BIN_WAIT : Cont. waiting
7 5 REC_TEXT_TMO:
09 10 057 ? fup 10% : Join common timout processing
FEDF 31 g;g aEC REP ?ag REC_TEXT_WAIT ; Continue waiting
57€ 3 REC"SNAR_TMO
S7E 0 REC_FABO_TMO
FDE6 3 g?g 1 ate GACKG?HO SND_REC_REQ ; Try again
049¢ N g 1 s g BRW  REC_DONE ; Complete it
08 64 A5 03 1 0584 5 108: 88C #UCBSV_CANCEL ,UCBSW_STS(R5),208 ; Is a cancel requested ?
8 0 589 9 BSB THO_RESEI ; Reset the device
0 lEgO S POPL RO ; Remove the return
0225 1 029; 33 BRW CANCEL _CUR ; Cancel this IRP
64 0200 SF ?3 §§gz 2? 208: gbgg gggP-CSR_H_DSR.(Rk) 3 é; E?oiti?c connected ?
: 5
15 1 598 6§ BSB TMO_RESET ; Reset the device
S9A 4 PROTLO DSR_LOST
50 BEDO SAg 44 POPL RO : Remove the return
FDES N 82:6 25 BRW ABORT_NO_DSR ; Abort this IRP
SO0 B8E DO 05A6 6? 308: MOVL (SP)+,RO ; Get the return
SA9 63 DSBINT ;: Disable interrupts
7E S50 DO OS5AF 4 MOVL RO,=(SP) : Put the return back
05 Ogg g? RSB
§58 Sg TMO_RESET: :
00AB C5 64 BO 058 5 MOV (R&4) ,UCBSW_XW _LSTCSR(RS) ; Save the modem Lines at end of trans.
66 02 B0 0588 5S4 MOVW #OUP_CSR M'DTR, (R4) : Turn off the receiver
04 AL B4 0588 855 CLRY  DUP_CSR_TXCSR(R4) : Turn off the transmiter
S8 59 SETIPL UCBSB_FIPL(RS) 2 2rop to fork
00AA C5 00 90 SC§ S MOVB #RSTSTDLE ,UCBSB XW RISTA(RS) : Set receiver to idle
00A9 C5 00 90 05¢C 58 MOVB  #TSTASIDLE,UCBSB_X@_TISTA(RS) ; Set transmiter to idle
05 05cCC 54 RSB
05CD 60 .DSABL LSB
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cD 62 : ' l
ggg gg : Send as binary adding only SYN and trailing PAD characters f
cD 65 XMT_INI_BINARY:
bs AS 8 A8 05CD 69 BISW #UCBSM_XW_AK1,UCBSW _DEVSTS(RS) ?
68 AS AA 0501 86 BICW  #UCBSM XW_PIPE,UCBSA_DEVSTS(RS) i
2E 30 SD; 63 BSBW XMT_START : Start up the transmitter ;
51 &7 AS A 05D 9 MOVZBL SBSL DEVDEPEND+3(R5) ,R1 ; Get the time to wait in a long word
SDC 0 WFIKPCH 108,RT : Wait for interrupt or timeout
SE6 4 10FORK : Create a fork process
019¢ 1 05€EC 7§ BRW COMP_GOOD ; Complete the request with good status
FFC1 0 OSEF 73 108: BSBW TMO_RESET : Turn off the device
51 19 C SFE 74 MOVZWL #XWSM_TRABINTMO,R1 ; Get a timout sending binary error
01C 1 02:3 ‘;g BRW ABORT_CUR ; And abort the request
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XWORIVER - BSC DUP11 Device Driver 16=SEP=1984 00:24:39 VAX/VMS Macro v04=00 Page
v04-608 Start |0 on the DUP-11 3-559-19 4 88:51:38 DRIVER.SRCIXWDORIVER.MAR; 1 ’

78 : '

79 ; Send as point-to-point BSC

i LENABL LSB
; XMT_INI_PTPBSC:
BBC #UCBSV _XW PIPE, - ; Is the cancel pipe active
4 ucBsw BEVSTS(RS),S$

5 PIPE_MARK
; 58: BSBV XMT_START Start up the transmitter
XMT_TEXT_WAIT: WFIRPCH 1508,#4 ; Wait for interrupt or timeout

OFORK Create a fork process
GET_RESPONSE:
0 BSBW

s

- e OO I T

E1
03 68 AE
FE2 1
0286 0
02CF
51 2?9c %S
38
008F
51 S1 ¥F8 gf
7 0
08 3¢ 0
ot 0
0
0
0

oocoONONONONONONONON OO OO OO O OO WAL

g
30 S RCV_START_PRO ; Start a protocol response receive
8 91 WFIKPCH 1608,#4 ; Wait for a response
9; 10FORK ; Create a fork process
00 6 9 MOVL UCBSL _Xw_SPBF (R5) ,R1 : Get the response in R1
9 B 9% CMPB #EBCDLCE R : Is it a DLE response
13 95 BEQL 6 : BR if DLE
3 399 BRW 103‘ : BR if not DLE
78 97 6%: ASHL #-8,R1,R1 : Set up the next byte
51 91 8 89 CMPB ISBfEOf.Rl ;s Is it a disconnect
12 899 BNEQ 108 : BR if not
51 gc 30 900 MOVZWL #XWSM_DISCON,R1 ; Get disconnect status
01 1 Gg 901 BRW ABORT " CUR ; Complete the IRP
51 7C8F 9N 4 90; 108: CMPB OSBCRVI.R1 : Was it an RVI
08 12 47 90 BNEQ 208 : BR if not
51 0400 gf gc 49 904 MOVZWL #XWSM RVI,R1 ; Get RV] status
013€ 1 064E 905 BRW comP_GOOD _AB : Complete the IRP
S1 6B 8F 91 0651 906 208: CMPB IBBCDACK.RI : Is it a WACK
26 12 0655 90 BNEQ 508 : BR if not WACK
0657 908 DSBINT : Lock out interrupts for the wait
0650 909 WFIKPCH 308, #2 : Wait for 2 seconds
0667 910 308:  SETIPL UCB$B_FIPL(RS) : DroB IPL to fork
03 64 AS Og 51 911 BBC IUCBSV_CANCEL.UCBSU_STS(ﬁS).4 $ : BR if no user cancel
014 1 91§ BRW CANCEL_CUR : Return the packet to the user
51 20 9A 913 40$: MOVZBL W#EBCENG,R1 ; Get an ENQ
0228 30 914 BSBW XMT_START_PRO1 : And send it
88 1 g}% BRB XMT_TEXT_QAIT : Wait for a response
g%? ; Check ACKs
12 68 A5 01 51 913 50s: 8B(C #UCBSV_XW_AK1,UCBSW_DEVSTS(RS),60% ; Which ACK is needed
51 61 8F 1 920 CMPB #EBCAKT,RY ;s Is it an ACK 1
03 1{ 921 BNEQ 52% : BR if not
0F 6 g 9 i BRW COMP_GOOD_TGL ; Complete the IRP and toggle ACKs
S1 70 8F 1 923 528: CMPB #EBCAKO,RY : Is it the other ACK
313 924 BEQL 80% : BR if it is
09% 3N 925 BRW 1708 : NO- consider it garbled
51 7 8! 9N 2 ? 60%: CMPB OSBCAKO.RI : Is it an ACK 0
3 1{ 9 BNEQ 62% : BR if not
00E4 3 g 3 BRW COMP_GOOD_TGL : Complete the IRP and toggle the ACKs
51 61 8F 1 929 62%: CMPB #EBCAK1,RY : Is it the other ACK
3 13 930 BEQL 80 : BR if it is
0082 #N 3 1 BRW 1708 : No- consider it garbled
3 g : Out of phase ACK

~N)
o
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0 E4& 06A4 5 80s: BBSC #UCBSV_XW_REP,~ ; Are we in a rep state !
09 68 Ag 6A 3 9 UCBSW_BEVSTS(RS),908 . |
6A 9 PROTLO ?ADACK 1
0082 31 6AF 9 g BRW 80% : Retry without rep state '
0081 C 0 0682 g 90$:  MOVB  UCBSB_ERTMAX(R3),- ; Reset the retry counter
0080 €5 68 40 ; UCBSB_ERTCNT(RS)
68 941 PROTLO REP : Record a retry
FCAS 31 6BF 94; BRW SND_REC_REQ ; Resend the last block
51 3 1 06C 943 1008: CMPB 058!NAK.R1 : Is it a NAK
1F 12 06C 944 BNEQ 120% ; BR if not '
06C 945 PROTLO K . Regort a nak sent
68 AS 01 AA 86CD 949 BICW #UCBSM_XW_REP 2CBSH_DEVS?S(R ) ; Reset possiable rep state
0080 cg 97 0601 94 DECB  UCBSB_ERTCNT(RS) ; Dec. the retry count
0 15 06D5 948 BLEQ (1} : Retry if threshold not exceeded '
FCBD g1 06D7 949 BRW SND_REC_REQ ; Try again |
51 02 C O06DA 950 1108: MOVZWL #XWSM _DATACK,R1 : Get retry threshold exceeded status
06D 951 PROTLO NAKOUT
00D9 31 O0Q6E 95; BRW ABORT_CUR : And abort the request and queue
51 37 91 06E6 953 1208: (MPB OSBCEDT.R1 ; Is it an EOT
0C 12 06E9 954 BNEQ 1308 : BR if not |
Q6EB 955 PROTLO ABEOT !
1 01 gc 06F1 956 MOVZWL #XWSM_EOT,R1 ; Get EOT status
00C8 1 06F& 957 BRW ABORT_CUR ; Abort the IRP and queue
S1 02 91 O06F7 958 1308: (MPB #EBCSTX,R1 ; Is it a conversational response
OE 12 O06FA 959 BNEQ 140% ; Consider it a garbled response
06F C 960 PROTLO CON_RESP (
51 0800 8F 3C 070; 961 MOVZWL #XWSM_CONACK,R1 ; Get conversational response status ?
070 965 : Toggle ACKs here ? §
0085 31 0707 96 BRW COMP_GOOD _AB ; Complete the request with status 5
070A 964 1408: PROTLO GARBLCED_RESP
1« 1N 8;}g ggg BRB 1708 ; Go to garbled response processing
8;}2 ggz : Response timout processing- send an ENQ to see what happened !
FE9E 30 071§ 969 1508: BSBW TMO_RESET ; Reset the transmitter ;
o 970 PROTLO TMO_XMT _TXTBLK *
FE9S 30 0718 971 1608: BSBW  TMO RESET : Reset the device and go to fork !
03 64 AS 03 §1 071§ 97§ BBC lUCGSV_CANCEL.UCBSH_STS(ﬁS).1703 :1f user cancel get out now i
0090 1 075 97 BRW CANCEL _CUR ; Gancet the IRP i
00 €2 07 3 974 1708: BBSS  WUCBSV_XW REP, - : Is this a new rep state ;
07 68 AS 7 975 UCBSW_BEVSTS(RS), 1808 |
0081 C5 90 0728 97? MOVB UCBSB_ERTMAX(RS) ,- : Reset the retry count |
0080 C5 72F 97 UCBSB_ERTCNT(RS) ,
0080 C5 97 0732 378 1808: DECB ¥$8$B_ERTCNI(RS) 3 Retr; error ? i
0C 14 0736 7 BGTR $ : BR it not '
51 02 3¢ 733 980 MOVZWL #XWSM _DATACK,R1 : Get a threshold exceeded ;
7 931 PROTLO REPOUT ,
0078 31 0741 9 ; RRW ABORT_CUR : Complete the request |
S1 20 9A 0744 983 1908: MOvVZBL #EBCERQ,R1 : Get retry protocol |
747 984 PROTLO REP_SENT |
64 0200 BF B3 074D 985 BITW »g?-csn_n_osn.(m ; Is DSR up |
09 12 0752 9 9 BNEQ 195% ; Br if not :
75% 9 PROTLO DSR_LOST %
FC2E 21 75A 988 BRW ABORT _NO_DSR : Get out : ?
0144 0 0750 989 1958: BSBW XMT_START_PRO1 ; Start up a protocol transmission :
760 990 WFIKPCH 2008,#3 : And wait for it to complete :
76A 991 - I0FORK : Create a fork process 5
l
il L AR
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FEAO 31 077 995 BRW GET_RESPONSE ; Join common response processing
77 99 ; with rep flag set
FE3D 30 077 994 2008: BSBW TMO_RESET ; Stop the device
0776 995 PROTLO SEN-RES_TIMOUT
FE94 31 077C 996 BRW GET_RESPONSE ; Try again
077F 997 .DSABL LSB
077F 998




vy

32 A3 40 A3
01

04 68 A5

68 A5 02
51

50 32 A3
50 50 10
50 0000'8F
40 A3

0C 2A A3 07
76 50
00000000 GF
50 BE

51

50 0000°'8F
09

AS 08

68
50 0000°8F

32 A3
CF

- BSC DUP11 Device Driver
Start 10 on the DUP-11

77F 1000 ;
77F 1001 :
77F 1 5 :
;;: } & COMP GOODEYGE
8 77F 1005 = mOw
E 734 1 09 BBCS
786 100
CA 0789 1008 BICL
730 1009 10%:
780 1010 COMP_GOOD:
D& 730 1011 CLRL
78F 1 1; COMP_GOOD _AB:
;g 78F 101 MOvw
793 1014 ASHL
B0 0797 1015 MOVW
879: 1819 COMPLETE:
B4 079C 1017 208: CLRW
1 079F 1018 B8B8C
D 07A& 1019 MovaQ
16 0Q7A7 1050 JSB
70 07AD 1021 Mova
0780 10 g 25$: REQCOM
0786 10
0786 1024 CANCEL_CUR:
D4 0786 1025 CLRL
3C 0788 1026 MOVZWL
11 078D 1027 BRR
07BF 1028
07BF 1029 ABORT_CUR:
A8 078F 1030 BISW
3¢ 07¢3 1031 MOVZWL
07C8 103;
7C8 1033 30%:
B4 07C8 1034 BAD_COMP:
1 7(8 1035 BRB
07¢D 1036 .DSABL

18-3Ep-198¢ 00:81:38 3515 R SR veR. maRs1 o€

Complete the request succesfully

LSB

IRPSW Aacur(ns) IRPSW_BCNT(R3) ;
#UCBSY X

UCBSW uevsrs(ﬁs> 108
#UCBSA_XW_AK1,UCBSW_ oevsfS(a

; Set the origional user size
?el the ack switch

R1 : No device dependant status

IRPsu BCNT(RS) RO
RO,R

ossi uénnAL RO

IRPSW_ABCNT(R3) an_up unuscd field
#1RPSV DIAGBUF, IRPSW_ STS(R ) 253 Is a diagnostic buffer here
RO,=(SP) ; Save the completion status
G‘fOCSDlAGBUFlLL : Fill the diagnostic buffer if any
(SP)+,RO : Get the status back
; Complete the request

: Set the transfer size in status
: Move it to the high byte
: Get success code

R1 ; No device dependant status
#5S$_CANCEL RO ; Get cancel status
308 : And complete the request

#UCBSM _Xw PIPE UCBSW_DEVSTS(RS) ; set pipeline marker
#5S$_ABORT,RO : Get aborted status (device dependant
: status is already set

CLR IRPSW_BCNT(R3) ; lero byte count
Egg ; Complete the request

]

|

3

XWD!
V04
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V04

7¢0 1 :
;gg } %% ; Start a full duplex diagnostic read/write
7Ch 1041 XHT INI_DIAG:
b 32 A 38 7¢D 1 4§ “MOVZWL IRPSU CNT(R3) ,RO ; Get the receive count
78 AS° SO CO 0701 104 ADDL2 RO ! L_SVAPTE (RS) : Point ‘to transmit buffer |
AS 40 A3 BO 0705 1044 MOVW xa# u ABCNT(R3) gcesu ac~rcas» Set xmt. buffer count ;
090 ¢5 SO B0 O7DA 1045 MOVW  RO,UCBSB_SLAVE (RS) Set receive count |
gc 83 00 O7DF 1 49 MOVL  @IRPSL_SUAPTE(R3),- : Set receive buffer pointer ,
009C C 7E§ 104 U BSL_XW_SPBF (RS) l
7ES 1048 : UCBSL_SVAPTE = tronsnif buffor pointer
7E§ 1049 ; UCBSW_BCNT = transni} buffer count
7ES 1050 ; UCBSL_XW_SPBF = roco vo buffcr pointer
7E5 1051 ; UCBSB_SLAVE = receive buffer count
00A9 €S 01 90 O7ES 1 S§ “MOVB #TSTASCTS ,UCBSB_XW_TISTA(RS) .sot transmit int. state
00AA C5 OC 90 O7EA 105 MOVB #RSTSDIAG, "UCBSB XW RISTA ( RS) ; Set receive state
00AD C5 04 9A O7EF 1054 MOVZBL #4,UCBSL_XW_SYCRT(RS) ; Set the sync count
875‘ 1055 DSBINT . Disable intorrug
50 6 AS 9A OQ7FA 1059 HOVZgL UCBSL _DEVDEPEND+2(RS) ,R0 ; Get t e sync character ,
8200 8F A1 O7FE 105 ADDW3  #DUP_CSR_M_BYM!'DUP_CSR_M tax. ; Set up the param. csr |
02 50 802 1058 RO,00P CSR-PARM(R4Y
64 10 AA 0805 1059 BICW  #DUP_CSR_M-REN, (R4) ; Force a resync
64 0154 BF A8 0808 1060 BISW #DUPTCSR™MTSSY 'DUP CSR_ M _REN!= : Set RTS,REN,SSY._RIE
8300 1861 DUP TSR M RIE!DUP TSR M RTS, (R4S
0050 8F A8 00 1 6; BISW #0UP _CSR A TlE'DUP CSR_A_ SND - ; Set TIE and SEND
04 A4 0811 106 DUP_TSR_TXCSR(R4) ~
O1FF 8F B0 0 1; 1064 MOVW #DUP_CSR_M_SOM!PAD,~ ; Set start of message and a PAD
06 A4 081 1065 pUP TSR _TxXDBF (R&)
09 E1 0819 1069 BBC llO!V,HllNTLgOP - : Is it a internal Loop
06 20 A3 0818 106 IRPSW”FUNC(R3) , 28
0800 8F A8 0815 1068 BISW #0UP_CSR M STM, - : Set the system test mode bit
04 A4 8 10;9 DUP_CSR_TXCSR(R4)
E1 0826 1070 28: BBC #108V_NOCTSWAIT - ; Is the no CTS wait state requested
05 20 A 8 5 1871 IRPSW™FUNC(R3) 58
00A9 C5 05 90 9 1 7§ MOVB ITSTA’DIAG.UCB‘B Xw_ TISTA(RS) Set the no (TS wait state
0 El 1073 5§: B8BC llOtV_lNTCLOSK. : Is tﬁ is a internal clock test
06 20 A 8 1074 IRPSW FUNC(R3) ,10%
04 A& 1000 8F A8 g 1075 BISW lgUP SSI M_ETM,DUP_CSR_ YXCSR(R6) : Yes turn it on
884 } ;? 108: g;gfzgu ; Wait for request to finish
0 43 1078 15%: WFIKPCH 40%.#2 : Wait for receiver to finish
53 107 I10FORK : Go to fork lLevel
FF3F CF gf 59 1080 PUSHAL COMPLETE : Set up a normal cpmpletion
50 00" 8F S0 1081 NOVZgL #5S$ NORMAL Rg : Get normal status
9g cg A 62 1 i 208: SUBWS  UCBSB_SLAVE (RS) - : Get the receive size
1 32A 66 1 IRPSW”BCNT (R3) ,R1
2 A3 S 9 69 1084 Movww  R1,IRPSW BCNT(R3) : Fake transfer size
s1° S1_ 1 90 1085 ASHL  #14,R1,RT : Put it in the high byte
75 AS A 1 1084 SUBW3  UCBSW_BCNT(RS) ,- : Get the transmit count
S1 40 A 7% 1 IRPSW™ABCNT (R3J ,R1
ZAAS O [} 77 1 8 BISW #1RPSA fUNC.lRP‘U SYS(RS) Set read for completion code
0 ;E } 80 RSB : Join the common completion code
1564 AS 03 EO 7% } gi 308 : ggglNY #UCBSV_CANCEL ,UCBSW_STS(RS) ,508 ; Is a cancel requested
1 E? 109 BRB 108 eep waiting
08 64 AS 8? EO 9 1094 40%8: BBS #UCBSV_CANCEL ,UCBSW_ StS(ﬁS) 508 ; Is a cancel requested
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DSBINT
Bl 15%

BSBW TMO_RESET
MOVZIWL #SSS _CANCEL,RO

PUSHAL BAD_CompP
BRB 08~

'8-3EP-1980 00:%7:38 YoATVER.S JMAR; 1

; Get cancel status
;s and complete the request
: In the common code

e 8,

er—————————
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A4 1103 ;
:2 }} & ; Transmit startup utility
A4 1106 XMT_START PRO1:
AG 11 .ENABL L?!
TE AS 81 ?? AG 11 s MOVW #1,UCBSW_BCNT(RS) ; Set the transfer count at one
A8 1 BRB 10§ ; Now Load the buffer with the message
AA 1110 XMT_START_PRO2: :
7E Ag 2 8 AA 1111 MOvw #2,UCBSW_BCNT(RS) ; Set the transfer count at two |
009C ¢ D A 111; 108: MOVL R1,UCBSL_XW_SPBF (R5) ; Load the buffer with the protocol mes. .
009C C5 DE m MOVAL UC‘SL-!H SPBF (RS) ,= ; Set the protocol buffer pointer '
78 AS 1114 UCBSL_SVAPTE(RS) f
9 1115 XMT_START: |
00A9 CS 81 90 9 1119 MOVB #TSTASCTS,UCBSB _XW _TISTA(RS) ; Set the starting state to (TS ;
00A0 C5 8 O9A 885 m MOVZBL #8,UCBSL_XW _SYCRT(RS) ; set the sync count ;
g& g& A 8C 1118 BISW #DUP_CSR_M_RTS, (R4) : Set request to send
0 E D BCS 11 MOVL (SP)¥,RO : Save the return
8C9 1120 DSBINT : Disable interrupts ‘
7E 50 DO O8CF 1121 MOVL  RO,=(SP) ; Put the return back
8200 8F 80 0802 11 i MOVW  #DUP_CSR_M_CRI'DUP_CSR_M BYM,-
2% Al 0803 1" DUP_CSR_PARM(R4)
0058 8F A8 08D8 1124 BISW #OUP_CSR_M_TIE!DUP_CSR_M_MDX'!'DUP_CSR_M_SND,= ; Turn on interrupt
04 A4 08DC 1125 DUP_CSR_TXTSR(R4)
06 A& O1FF 8F B0 OBDE 1126 MOVW #OUP_CSR_M_SOM!PAD,DUP_CSR_TXDBF (R4) ; Set SOM and PAD [
08E4 1127 : Is the TSOM and SEND order inportant ?
05 OBE4 1128 RSB ;Return from subroutine |
835; }} 3 .DSABL LSB
835; }} 1 ;Receive startup utility
08E3 1133 RCV_START PRO: |
S Og 90 O0BES 1134 move #RSTSFIRST,UCBSB_XW _RISTA(RS) ; got starting receive state |
78 AS_ 009C C5 DE O8EA 1135 MOVAL usasL XW_SPBF (RST,UCBSL_SVAPTE(RS) ; Set the protocol buffer
AS 02 80 83;2 }}i? e STAR?OVH #2 ,UCBSW_BCNT(RS) : Set the protocol response
S0 46 AS 9A O08F& 1138 il MOVZBL UCBSL_DEVDEPEND+2(RS),R0 ; Set the SYN character in RO |
wwqamgm}m mu:%&m&m%MAMrﬂnmmmmnun |
66 10 AA OBFF 1141 BICW #DUP_CSR_MZREN, (R4) ; Force a resync :
50 8t 00 09 116§ MOVL _ (SP)¥,RO : Save the return .
0905 114 DSBINT ; Disable interrupts |
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) 3 Pu; the return Eock
R_M_SSY!DUP_CSR_M_REN!DUP_CSR_M_RIE,(R4) ; Start the rcv.
T Return~to caller ;
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4 PRIVER.SRCIXWORIVER.MAR; 1

.SBTTL Block Checking

*

Remove all control characters, check all CRCs, and compact the data into
the same buffer.

input
’ RO=- count from R1 to end of buffer
R1= pointer to byte after STX

output
RO, R1- destroyed
control is passed to either the NAK or ACK routine after checking

Register conventions
R6-1T8B pointer
R7=count pointer
R8-1TB count
R9- pointer to beginning of raw data
R10=-count to CRC

IR TETE FRETE A TA A A A PA AR PRATE PR TR PR PR PR TR TR I

MOVAW  =(R9) ,8IRPSL_SVAPTE(R3) ; Fake the system buffer pointer
+ Set count for user

SUBW3  #3,R0,(R9)
Set ug'tho count

5%: CRC POLY _TABLE,(SP) ,R10,(R9) ; DO the CRC on the whole block
R BR if not 2zero

St?ro the sentenal

Point to end of block

Send a ACk

Get count to end of CRC

000000000000 00000000 NN NNNNNNNNOONONONONON OO OO WU S

DLE_STX_CRC=*X18C ; DLE, STX string CRC

STX_CRC=*xC181 : Partial CRC for STX
BLK_CHECK:

.ENABL LSB

PUSHR  #*m<R3,R4&,.R5,R6,R7,R9,R10>

MOVL R1,R9 ; Save the input pointer

MOVL  @IRPSL_SVAPTE(R3),R? : Get the output pointer

MOVL  UCBSL RW_ITBPTR(RS) ,R6 : Get the ITB table base

ADDL #7+4 Ré : Point to tne first ITB

ADDL3  RO,R{,-(SP) ; Point to end of block

CLRL -($P) : No partial CRC

MOVL (R6) ,R10 ; Are there any internal CRC

BNEQ 20% : BR if there are

00000@08

OO0 O0O0O0OVY
mbwﬂo&%\hﬁw-ﬁ O OO NO WS N = O 000 NOM N B N = O 0 00 NN N 8 N = O O 00 O N S i) — O 0

BNEQ Not end so branch
SUBL R9,4(SP) ,R10 Get the remaining count
SUBWS  #3.R10,(R7)+ Set the lLast count

veo  R16,(R®), RD) Move the lLast record
MOVL 7.R9 Fake the last CRC

RB $ Do the Last CRC

B b

§ $: SUBL R9,.R10 Get count to next ITB CRC
$: CRC POLY _TABLE,(SP),R10,(R9) ; Doigh: soE;éll CRC

?

BAD CRC :
SUBW3  #3,R10, (R7)+

e e ) e ) i e o i D ) i e D e e e e el el el D e e o o ) e i D e e e D D D D D B d D e e e D D e D D D D D D D D D D

PORORORININ) = b b o b b e o mnd o o o o o o o o o o o ol ol e o o o o o o o o o o o o o o o o o o D o D e e e —d B D

; store the count in the buffer
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v0£-688 Block Checking g-SEP-193£ 88:51:38 !DRIVER.SRCJIHDRIVER.HAR;1 v (i)
7 A 2 97¢ 1 MovC R10,(R9),(R7) ; And compact the data
27 gg 3 Cg 9 § 1 9 SUBLi li.ﬁi R7 ; Point tg next count
SA 04 AE Si 986 1 3 suBLY Rr1.4(8P),R10 : G'f the count remaining
1 SA i 988 1 SKPC  #EBCSYN,R10,(R1) : Skip the SYN
1 98F 1 1? BEQL BAD_CRC : BR if bad CRC
6E 0000813 F D 991 121 MOVL #OLE_STX_CRC,(SP) : start the next CRC
81 21 F 81 998 1 1§ CMPW USBCULE!258C§TX'256>.(R1’0 : The DLE STX are in the CRC
10 13 0990 121 BEQL  40% : BR if here
9§ D& 099F 1214 CLRL (SP) ; Set no partial CRC
85 9A 1215 TSTW -(R1) : Back
61 ; 1 09A3 1 19 CMPB lSBCSIX.(Rl) : Dies the next record start with STX
12 09A6 121 BNEQ 40$% : Br if not
6t C181 8F 3C 09A8 1218 MOVZWL #STX_CRC,(SP) ; Get the STX partial crc
51 D6 O09AD 1219 INCL R1 : Remove the STX
59 51 DO O09AF 1220 40%: MOVL R1,R9 : Set the new from pointer
Al 1N Oggz } 1 e BRB 10§ : Get next record
SE 08 CO 0984 1 i ¥ ADDL #2+4 gP : Pop the CRC and end
06F8 8F BA 0987 1224 POPR  #*M<R3,R4,RS,R6,R7,R9,R10>
046 (8 0988 1225 BISL  W#UCBSM XW NAK,= ; Mark a NAK sent
68 AS 98D 1 ? UCBSW _BEVSTS(RS)
98F 1 PROTLO NAK_SENT
FBBD 30 09CS 1228 BS8W SEND _RESP ; Set up and start the NAK
09C8 1229 WFIKPCH REC_SNAK_TMO, ¥4
0902 1230 10FORK ; Create a fork process
_REC_ : Restart the receive buffer
F98C n 8333 } 1 sem TEI?RU SND_REC_REQ & h i buff
SE 08 (CO 0%8 1 i = ADDL #2v4 §P : Pop the CRC and end
06F8 B8F BA 890 1234 POPR  #*M<R3,R4,RS,R6,R7,.R9,R10>
50 2C gs €2 092 1235 SUBL  @IRPSL SVAPTE(RS),R0O ~ ; Get buffer size
40 A3 0 81 096 1 9 (MPW Rg lRP!H_ABCNt(RB’ : Is the users buffer Large enough
08 19 09EA 1 BLSS  55¢% P Brif it is
SO 0000°'8F gc 9EC 1238 MOVZWL #SS$_TOOMUCHDATA,RO : Get a error message for the user
FDD4 1 09F1 1239 BRW BAD_Comp : And return the buffer with a fatal err
32 A3 50 Bg OF4 1240 55%: MOVW RO,TRPSW _BCNT(R3) : Set the transfer size for the iocomp.
01 E3 09F8 1241 BBCS  #UCBSV XO AK1,- : Toggel the ACK switch
04 68 AS 9FA 1 4.; UCBSW_BEVSTS(RS),608  : ..
68 AS 02 CA O09FD 124 BICL  #UCBSA_Xw_AK1,UCBSW_DEVSTS(RS) ;...
06 CA O0AD1 1244 608: BICL #UCBSM _XW NAK,=- : Reset NAK sent last switch
68 AS Aog 1245 UCBSW BEVSTS(RS)
03 66 AS 03 E1 A 1 6? B88C #UCBSY_CANCEL ,UCBSW_STS(RS),708 ; If canceled the higher
AQA 124 3 (evels will want to send an EOT
AOA 1248 : Rather than this ACK
FDA9 §1 AQA 1249 BRW CANCEL _CUR : Return this packet cancled
FB4S 0 O0AOD 1250 70$: BSBW SEND_RESP : Set up the correct response
A10 1251 WFIKPCH REC_GACK_TMO,#4 : And wait for it to be sent
ATA 1 § 10FORK : Create a fork process
A 8 1 REC_DONE :
51 3C A3 go A 1254 MOVL IRPSL _MEDIA+4(R3) ,R1 ; Get the dev. dep. status
FD68 ¥ : g } S Bri COMP_GOOD_AB ; Complete the request
A7 1 9 .DSABL LSB

555558 Y5 |

Pt B ) Bt Gt Bt Pt} St Dot B Dot o) e Bl P B Pt B® B Bd B Pt

2TV RO000Q0
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vo«-&os DUP_ %1 Receive Interrupt Processing g-SEP-19 4 88-5 '38 !DRIVER SRCIXWDRIVER.MAR; 1 -t (i)

: ; } 58 .SBTTL DUP_11 Receive Interrupt Processing
: ; } 21 sXW_RINT = DUP=11 RECEIVE INTERRUPT PROCESSING
A7 1 2§ 3 THIS ROUT!NE IS ENTERED VIA A JSB INSTRUCTION WHEN AN INTERRUPT OCCURS ON A
: ; } gg : DUP LINE INTERFACE. THE STATE OF THE STACK ON ENTRY IS:
A7 1 69 3 O(SP) = ADDRESS OF IDB ADDRESS.
A2T 1267 : 4(SP) = SAVED R3.
A27 1268 ; g(SP) = SAVED Rk
A7 1 ?9 s 12(SP) = SAVED RS.
A27 1270 ; 18(SP) = INTERRUPT PC.
0: ; } ;1 ’ 20(SP) = INTERRUPT PSL.
0: ; } ;‘ ; Interrupt dispatching occurs according to received data.
A7 1275 ;-
A27 1276 XW_RINT::
A7 127 .ENABL LSB
53 9 DO 0A27 1278 MOVL a(SP)¢ ; Get the IDB ointcr
56 63 7D O0A2A 1279 MOVG  IDBSL Esn«ns) R& : Set CSR and ointer
64 AS 02 AA 0QA2D 1280 BICW #UCBSA_INT UCéSU STS(RS) ; Clear expected g
S0 02 A4 9A O0A31 1 31 MOVZBL DUP_CSR_RDBF ( ; Get the received byto
0A3S 1 ; CASE ucess_x@ RISTA(RS) - : Vector the interrupt
0A3S 128 TYPE=B,~ : Byte data type
0A35 1284 <RST_IDLE,- : Idle state
0A35 1285 RST_BINARY,- : Binary reception
0A3§ 1286 RST_FIRST,- : First character state
0A3S 1287 RSTONTTX, - : Nontransparent text
0A35 1288 RST_S!OP{.- ; First byte of last CRC
0A3S 1289 RST_STOP,~ s Storo Llast byte and complete request
0A35 1290 RST_ITB,~ ; Store internal CRC
0A3S 1291 RST_I!B{ - ; Store Last byte of internal CRC
0A3S 1 9; RST_XPRTEXT.- ; Transparent text
0A35 129 RST_DLE,- : transparent DLE processing
0A35 1294 RST™XPRITB,- : rransparon: internal CRC
0A35 1295 RST-XPRITBI,- : Second byte of internal CRC
0A3S 1296 RST_DIAG,=- : Diagnostic function
0A35 1297 RST_LOOP_TEST,~ : Slave loop diagnostic function
A3S 1298 >
AS7 1299
0AS7 1300 : ;
AS7 1301 : Second byte of internal CRC state
AS7 1 8;
A57 1303 RST_XPRITB1:
O0AA C5 08 90 O0AS7 1304 MOVB #RSTSXPRTEXT,UCBSB_XW_RISTA(RS) ;Go back to transparent text
05 N :SE } 5 BRB 100% ; Go to common internal CRC code
ASE 1 9 : Store the second internal CRC
ASE 1 s
Age 1 ﬁsr_lta1
00AA C5 03 90 :6 } 1? MOVB #RSTENTTX,UCBSB_XW_RISTA(RS) ; Go back to text state
:6 } }; : Internal CRC processing
78 85 SO A63 1314 1008: mMOVB  RO,3UCBSL SVA E(RS) : Store the last CRC byte
78 AS D6 O0A67 1315 INCL  UCBSL_SVAPTE (RS) : Step pointer




S
XWORIVER = BSC DUP11 Device Driver 16-SEP=1984 00:24:39 VAX/VMS Macro V04-00 Page 34 Xw
v06-608 DUP_s1 Receive Interrupt Processing g-SEP-19g4 88:51:38 !DRIVER.SRCJXHDRIVER.HAR:1 . (3 | Ps
TE AS ?; A6A 131 DECW gSBSH,BCNI(RS) ; And reduce count
b A6D 131 BLEQ $ : The end of the buffer!!
50 OOAg C 9A OQAGF 1 18 MOVZBL UCBSB_XW_ITBCNT(RS),R0O ; Get the index
78 A DO OA76é 131 MOVL UCBSL SVAPTE (RS) ,= : Save the pointer
00A4 0548 A77 1320 auCBSC_xw_ITBPTR(RS)CRO]
5 97 0A78 1321 DECB R : One less CRC PS
68 15 O0A7D 1 i BLEQ 508 : More than 8 77 —
00A8 C5 ; 90 OA7F 1 MOVB RO,UCBSB_XW_ITBCNT(RS) ; Save the nzw count .
1 11 0AB4 1324 BRB 25¢$ : get out $A
e 1352 H
:52 } 9 ;s First character state
AB6 1 3 RST_FIRST:
66 0100 8F AA OAB6 1330 BICW #DUP_CSR_M_SSY, (R4) ; Reset strip sync
00AA C5 03 90 0A88 1331 MOVB #RSTSNTTR, OCBSB_XW_RISTA(RS) ; Assume non-transparent text
SO0 10 91 0A%90 1 i CMPB IEBCDLE.RO : Is it non-transparent Ph
45 12 0A93 1 g BNEQ RST_NTTX : Process it if not ——
00AA C5 O 90 0A95 1334 MOVB #RSTSXPRTEXT,UCBSB_XW_RISTA(RS) ; Set state to transparent text In
F N 8:82 } 32 BRB RIDONE : Clean up stack and exit ga
.l
S0 1F 91 0A9C 1 i? 308: CMPB IEBCITB.RO : Will an internal CRC be next Syl
07 18 OA9F 1338 BNEQ 35% : BR if not Pa
00AA C5 Og 90 O0AA1 1339 MOVB IRSTSITB.UCBSB_XU_RISTA(ﬁS) ; Set state to store CRC Syl
4 11 0AA6 1340 BRB RIDONE : Complete interrupt Psi
SO 32 91 0AA8 1341 35%: CMPB lgBCSYN.RO : Is it a SYN in text Cr
4A 13 0QAAB 1 ki BEQL 25% : If it is BR and ignore it As
SO 20 91 OAAD 134 CMPB #EBCENQ,RO : Is it a forward abort
OE 13 O0ABO 1344 BEQL RST_STOP ; Complete the block now if it is Th
00AA €5 & 90 0AB2 1345 MOVB #RSTSSTOP1,UCBSB_XW_RISTA(RS) ; Set state to get Last CRC 13
2 N 3:39 } 48 BRB RIDONE ; Complete the interrupt Ih
:gg } 28 s First byte of Last CRC state 38
AB9 1350 RST_STOP1: —
O0AA C5 05 90 0AB9 1351 MOVB #RSTSSTOP,UCBSB_XW_RISTA(RS) ; Set state for stop after next
28 N 0:% } gi BRB RIDONE : Complete the interrupt
:E } gg : End of buffer state Ma
ACO 1 59 RST_STOP: s
78 B5 S0 90 O0ACO 135 MOovB RO,3UCBSL _SVAPTE (RS) : Store it in the buffer $
78 AS o? ACL 1 sg INCL  UCBSL_SVAPTE (RS) : Step the buffer pointer 10
TE AS AC7 135 DECW UCBSW BCNT(RS) : ;nc ude the byte in the count
00AA CS go 0 OACA 1360 508: MOVB  #RSTSIDLE,UCBSB XW_RISTA(RS) ; Set state to idle 20
64 0050 8F AA OACF 1361 BICW  #DUP_CSR M axe!gup,csa,n,neu.ta4) ; Turn intgrrupts of f
53 10 AS 08 ADG 1 6§ MOVL UCBSL _FRI(RS) R ; Restore the fork R Th
00AB C5 64 AD8 136 MOVW (R4) ,0CBSW_XW_LSTCSR(RS) ; Save the ending (SR
0C 85 16 O0ADD 1364 JSB ggcaiL,rpctnsr :"call back in Line to complete request M
0014 31 OAEQD 1365 Brw ;: Clean up and exit the interrupt
AE3 1307 |
:E ; 68 : Non=transparent text state |
AES 1 9? RST_NTTX: |
81 O0000CBC'EF 50 EO OAES 137 BBS RO,CCHRMASK, 308 : BR if a control char. ;
AEB 1372 RIDONE: l
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SEP=1984 00:24:39 VAX/VMS Macro V04=00 Page
DUP_11 Receive Interrupt Processing g-SEP-19gk 88:51:38 !DRIVER.SRCJXHDRIVER.HAR:1 .
78 BS Sg 90 OAEB 1373 MOVB RO,3UCBSL _SVAPTE (RS) : Store it in the buffer
78 A 09 AEF 1374 INCL  UCBSL_SVAPTE (RS) ; Stef the buffer pointer
7TEAS B :; } ;S 23 DECW UCBSW_BCNT(RS) s Include the byte in the count
p3 15 :; } ;9 ast IDLEBLEO 508 : BR if the buffer is full
Sg BE 7D OAF7 1 73 2?3? mMova (SP)*.Rg : Restore Rg-i
S BE 7D OAFA 1380 Mova (SP)+,R : Restore R2-
5S¢ BE 7D OAFD 1381 Mova (SP)+ R4 : Restore R&4=5
02 Bg? } i REI : Return from interrupt
838} } g : Store the first internal CRC character
3331 1 9 RST_1TB:
00AA C5 07 90 11 MOVB #RSTSITB1,UCBSB_XW_RISTA(RS) ; Set state to store second CRC
E3 N1 838§ } gg BRB RIDONE : Complete the interrupt
8388 } g? : Transparent text state- if DLE is found drop it and go to DLE state
8808 1§9§ RST_XPRTEXT:
S0 10 91 0808 139 CMPB #EBCDLE RO ; Is it a DLE
DE 12 0BOB 1394 BNEQ RIDONE : If not continue
00AA C5 09 90 O0BOD 1;95 MOVE  #RSTSDLE,UCBSB_XW_RISTA(RS) ; Set state to DLE
p7 N 83}2 } 89 BRB RIDONE ; Complete the interrupt
0B14 1;98 s Transparent character after a DLE
Bl 1 b o
SO0 1IF 91 0B14& 1401 o CMPB #EBCITB.RO : Is it an internal CRC
o0 12 0B17 140; 8NEQ 40% : Check sone more
O0AA C5__ OA 90 0B19 140 MOVB #RSTSXPRITB,UCBSB_XW_RISTA(RS) ; Set transparent ITB state
78 A5 D7 OBIE 1404 428:  DECL  UCBSL_SVAPTE (RS) ; Remove the DLE
TE AS B6 0B21 1405 INCW UCBSW _BCNT(RS) 3 aee
€S 11 0B24& 1406 RREB RIDONE : Exit the interrupt
S0 32 91 0B26 1407 40S: CMPB IEBCSYN.RO : Is it a SYN in text
0D 12 0B29 1408 BNEQ 45% : BR if not
00AA C5_ 08 90 O0B2B 1409 MOVB  #RSTSXPRTEXT,UCBSB_XW_RISTA(RS) ; Set state to text
78 A5 D7 83 g 1410 DECL UCBSL_SVAPTE (RS) : Remove the DLE also
7E AS B6 1411 INCW gcasu_BCNI(RS) -
BF N oegg 161§ BRB 5% : And exit the interrupt
0C 0O0000CBC'EF SO EO OB 16413 45%: BBS RO,CCHRMASK ,47$ : 1f it is a cont. cha. strip the DLE
00AA C5 08 90 oaag 1414 MOVB  #RSTSXPRTEXT,UCBSB_XW_RISTA(RS) ;Go back to transparent text
S0 10 91 O0B4S 1415 CMPB l;BCDLE.RO : Is it a DLE in text
AD 13 48 1419 BEQL 25% : If so dump it
9% 1N 4A 141 BRE RIDONE > aet out
00AA C5 04 90 0B4C 1413 47 MOVB  #RSTSSTOP1,UCBSB_XW_RISTA(RS) ; Set state to stop after CRC
B N 08?1 }210 BRB 42% : Complete the interrupt
: Transparen state
g }2 1 T t I1TB stat
53 14 ; RST_XPRITB:
00AA C5 08 90 53 1424 MOVB #RSTSXPRITB1,UCBSB_XW_RISTA(RS) ; Go to second byte of CRC
91 N 58 1425 Bry RIDONE : Complete the interrupt
gA 14 ? RST_BINARY:
66 0100 gr AA A 14 BICW #DUP_CSR_M_SSY, (R4) ; Reset strip sync
FF89 3 Bgs }2 3 BRW RIDORE

~n
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DUP11 Device Driver
Receive Interrupt Processing

1430 ;

}2 é : Diagnostic interrupt service

14 ksr_onAcz

1434 BICW  #DUP CSR M ssv (R4) ;
1435 MOVB RO,a0C s[ !u s r(as> :
14 9 INCL ucésL Xw_$S ;
14 DECW gcasa SLIVE(RS) ;
i e

}22? : Diagnostic slave loop function=- receive
144; kst _LOOP_TEST:

144 CMPB  #PAD,RO ;
1444 BNEQ  RST_BINARY ;
1445 BRW 508" :
1446 .DSABL LSB

J198¢ 80:31:28

AX/VMS Macro
DRIVER.S

Drop strip sync

Store the received byte
Step the pointer

Reduce the count

until the first PAD

Is it a
1f not
If it

v04-00

P
] XWORIVER.MAR; 1 pouse %g)

ad
hgndle it Llike binary
is the message is done
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INTERRUP

P ATETE PR PETE TR PR PR TR PR TR

=
—
L
=
-

MOVL
MOovaQ
BICW
CASE

IPRO_CTS:
BITW
BNEQ
MOVB
BRB
108:

IPRO_DIAG:

- ENABL
IPRO IE!; ;

IN
IPRO_IDLE:
IDONE: MOvQ

MOvVQ

MOVQ

REI

nterrupt Processing

AX/VMS Macro V04~

183EP-198¢ 00:51:28 VORTVER. SREISubAIvED maR: 1

_ +SBTTL DUP=11 Transmit Interrupt Processing
i*XW_TINIT = DUP=11 TRANSMIT PROCESSING

€ IS ENTERED VIA A ION
INTERFACE. THE STATE OF THE STA

JSB INSTRUCTION WH
CK ON ENTRY IS
ADDRESS _OF IDB ADDRESS.

SAVED R3.

SAVED Rk
SAVED RS.
INTERRUPT PC.
INTERRUPT PSL.

ISPATCHING OCCURS BASED ON TRANSMIT STATE

; Get the IDB pointer

: And the UDP csr and the UCB
; Clear expected bit

“And vector. the interrupt

)+,R3
LRI oesS srsenm’
B_X f YA(RS . 3
0 No interruet expected
Wait for clear to send

synch state

Text state
Last pad state
Diagnostic (no CTS wait state)
Drop RTS state

"
SR(R
INT
w_T
fDLE,-
1s,-
YN,-
ext,
NDPA
IA

RO

a(sp
108$
#UCBSA
usas
<IPR L
IPRO_CTS,
IPROS
IPRO-TEXT,-
IPRO_ENDPAD , =
IPRO-DIAG, =
gpao DROPRTS, -

#DUP_CSR_M_CTS, (R4)
108 ~

#PAD ,DUP_CSR_TXDBF (R&)

send a pad and wait for CTS
IDONE -

Go exit the interrupt

#TSTASSYN,UCBSB_XW_TISTA(RS) ; Set state to send synch

UCBSL DEVDEPEND*%(RS) DUP_ CSR TXDBF (R4) ; send a synch
UCBSL™XW_SYCNT(RS),IDONE I De¢ SYN count
#TSTASTERT,uCBSB_ xu TISTA(RS) : set state to text
{ggn& ; Exit this interrupt

?CBSU_BCN!(RS) : Reduce the byte count
: Change to trailing pad state
aUCBSL_SVAPTE

(RS : Send the next byte
DUP_CSR TXDBFé§§

)0 [

)
UCBSL_SUAPTE( ; Step the pointer to next byte
(SP)*.R%

(SP)+,R
(SP)+,R

Restore saved regesters

Return from the interrupt

EE INT ERRUPT OCCURS ON A

Page
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vo«-&og DUP=11 Transmit Interrupt Processing g-SE g 88 5 38 DRIVER.S J XWDRIVER.MAR; 1 o (4) |
809 15
00A9 C5 04 90 0BD9 15 ? 108: MOVE  #TSTASENDPAD ucgsa_xu,rxsrA(RS) Set trailin? pad state |
7E A5 02 80 BDE 1308 enopgo #2,UCBSW_BCNT (R ; Set the # of trail PADS to 2 | (
7E AS B7 O0BEZ2 1510 DECW ssasu BCNT(RS) ; Decr PAD count ! '
05 14 OBES 151 BGTR ls it the Last ont? ;
00A9 ¢5 06 90 OBE? 1 1; MOVB #TSTASDROPRTS ,UCBSB_XW_TISTA(RS) ; Set drop RTS state | DEF/
06 A& FF BF 90 OBEC 1513 20s: MOVB cPAo DUP_CSR_TXDBF (R4) " ; "Send the trailing pad |
oc 1 e;1 }§}§ ngABL LSB ONE Exit the interrupt
835% 1519 IPRO_DROPRTS :
00AB €5 ga B0 8ar 151 MOVW  (R4),UCBSW_XW LSTCSR(RS) ; Save the last CSR
0050 8F AA OBFB 1513 BICW  #DUP_CSR_M-TIE'DUP_CSR_M_SND,= : Turn off interrupt enable
04 A4 0BFC 151 DUP TSR TXTSR(R4)
0346 AS 00 EO osrg 1520 BBS #XWSV_CRA_FDX,UCBSL oevoeveno(ns> 108 : Is this Line HDX LIBS
66 04 AA 0CO3 1521 BICW  #DUP_TSR_M_RTS,(R&)™  ; Drop request to send
00A9 C5 00 90 0C06 15 g 108: MOVB atsrxsxoge.gcaig XW_ TISTA(RS) Set state to idle
S3 10 AS DO O0COB 15 MOVL  UCBSL FR3(RS),R ;Get the fork R3
0C B5 16 OCOF 1524 JSB aUCBSC_FPC(RS) ; Pass control back to where 10 was strt
BB 11 0C12 1525 BRB 1DONE : Exit the interrupt
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: output
R

EGDUHP:

input

output

RR -RECORD:
M

UP11 Device Driver -SEP-1984 88:54:39 AX/VMS Macro V04-00
Dump the errors and dovice CSRs -SEP-1984 00:21:28

.SBTTL REGDUMP Dump the errors and device CSRs

Move the accumulated errors and CSR 0 into an error Log buffer
; or 3 diagnostic buffer.

buffer pointer
UCB pointer
CSR pointer

aR0 is fillcd with:
? words filled
last or current) fatal error

accunulated errors (see UCB definition)

PUSHR  #*M<R1,R2>

ADDL3  #UCBSB XW_ERRORS,RS.R1 ; Get a pointer to the first error
MOVL #NO_ERRORS+1,R2 : Get the number of error fields

MOVL  #<NO ERRORS+3> (RO)+ ; Store o lon? words
MOVZIBL (R1)¥%,(RO)+ ore the [a
MOVZIMWL UCBSW_XW _LSTCSR(RS), (RO)* : Storo the
MOVZBL (R1)0 RO) + : Store a long uord

SOBGTR 0‘ : BR if not done
MOVL l-i (RO)+ : Put in sentinal
agsn #*M<R1 LR2>

.SBTTL ERR_RECORD Save an error in the UCB

The error is recorded in the apfropriate ucB field, if it
is fatal the error logger is ca

led.

5= UCB

R4- Device CSR
4&(SP)= error
(SP)= return

The UCB is updated and the error is logged if fatal

OVL SP) ; Save a reg.
5 ASHL 0-1 Z'Q(SP) RO : Get the error number
9 MOVB gCB$B xw ERRORS (RS) Save the last error
INCB g 6 B_XW Enuoa501(n5)[noi Step tho error cell
s BNEQ 5ont pass 0
DECB gcasa X 8naoaso1(n5)tnoi ot
0 5$: , BLBC : is this a fatal error
1 JSB G‘ERLSDSVICERR : Yes call the error logger
g 108: MOVL (SP) : Restore RO
MOVL (SP)+,(SP) ; Remove the error

DRIVER.SRC J XWORIVER.MAR;1

st error logged

82!

Pse:

ST

ST

[ MsG!

MSG!

MSG!

MSG!
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- BSC DUP11 Device Driver

ERR_RECORD Save an error in the UCB

05 0C66 1584 RSB

16-SEP-19
-SEP-19

4
4

00:51:28

AX/VMS Mac
DRIVER.SRC

o V04-00

r
Ixw

DRIVER.MAR;1
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iver 16=SEP=1984 00:24:39 VAX/VMS Macro V04-00
g-SEP-1ggk 88:31:38 DRIVER.SRCIXWDRIVER.MAR;1
+SBTTL CANCEL I/0 ON CHANNEL
XW_CANCELIO = CANCEL I/0 ON CHANNEL

o
-
o

XWOR]VER = BSC
V04000 CANCE

o—
X =t
>
g.
mo
~S

*

THIS ROUTINE IS CALLED WHEN THE LAST CHANNEL ASSIGNED TO A DEVICE IS D
THE DEVICE IS DEALLOCATED, AND WHEN THE CANCEL I/0 ON CHANNEL SYSTEM S
EXECUTED.

INPUTS:

NEGATIVE CHANNEL NUMBER
ADDRESS OF CURRENT /0
CURRENT PROCESS PCB ADD
DEVICE UCB ADDRESS.

REQUEST PACKET.
RESS.

DOV D
(VP V. 8
nuumn

OUTPUTS:
THE DEVICE INDEPENDENT CANCEL I1/0 ROUTINE IS CALLED.

[=leleleleleleleleleleleleleleleleclalalalal~l~1N

alnlninininiainininieinininiainioiainiainiele]
o-ooorOrOrONMONMONOMONMONMOMONONONONONONONONONONO O
SNNNNNNNNNNNNNNNNNNNNNNNN N7
) e e oD e e e ) e D e e e e D D e B D D e e —d g

O O O~ O O O~ O O O YU AWAWAUAWALUWAAUWA <o
(slelelelelelele el Ve lrs e le le e llelre e le 1o 1o 1o ]
CONO WV WIN) = OV NO WSS I = OV ~NOs <

XW_CANCEL10:
JMP

00000000°'GF 17 G*IOCSCANCELIO

DR

o ——
DO NNNNW
el ) o ) ) el e e )




ey

0 0
09 64 AS
04 64 AS

- BS
DUP-

05

slnlalslslslalnlsialaialalalalalalalalalalalnlalalnlelalalalaln
O~NN~N~wo- oo OO OCOOOOOOCOCOOO OO
NNVNNO OWNW-SO0000000O000000000000

[=l=d=d=l=lelelelelelelelelelalal]

G 8
ice Driver 16=-SEP=19 4: AX/VMS Macro v04=00
thlization g-SEP-1934 88 ; 38 PRIVER.S J XWORIVER.MAR; 1
LSBTTL DUP=11 Unit Initalization

XW_INIT = DUP=11 LINE INTERFACE UNIT INITIALIZATION

THIS ROUTINE IS CALLED AT SYSTEM STARTUP AND AFTER A POWER FAILURE. THE
ONLINE BIT IS SET IN THE DEVICE uCB.

: INPUTS:
; RS = ADDRESS OF DEVICE UCB.
§ OUTPUTS:
; THE ONLINE BIT xs SET IN THE DEVICE UCB AND THE ADDRESS OF THE UCB
; IS FILLED INTO THE OWNER FIELD OF THE IDB.
XW_INIT:
BISW  WUCBSM_ONLINE,UCBSW_STS(RS) ; Mark unit on Line
MOVL  UCBSL_CRB(RS) ,RO p et the CRB gointer
MOVL cnasL 1n1o+veésL IDB(RO) | RO ; Get the IDB pointer
MOVL RS, IDBSL_OWNER(RD) re the UCB pointer

then do nothin

If The timeout expected
bit is set = no problem
If interrupts expected,
but timeoutnot rQQuostod
avoid powerfail recover
crash condition

BBS #UCBSV_TIM, UCBSW_STS(R5),108
BICwW #UCBSM_INT,UCBSW_STS(RS)

108: RSB

oo-ooooorororOrOrOFMOMONOMOMONONONOAOrONOrOrOFOFOMOFOMOMOMOFMOMON —O

2 5 LN N N N N N N N NN NORORIRONIRINININ) =8 b b b b b b b b s ) B

e e o S el e el S e e e e D e el el o e i ol ol el S il el o o el el e
= OO0 NO S AN = OV NON N S WM = O VO NN NS W — O

Voo

BBC IUCBSV IRT, UCBSH STS(RS) 1 S ; If interrupts not expected
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= BSC DUPI1 Device Driver
Control character table

8 5~
S323TIES

(il ml=lelelelelalalelelelelelelalelelelelele el e e

00
00009€01
00008801
00004400

CBC 1643 .SBTTL Control character table

E C } 2; CCHRHASK:Lons - 0001
C 8 1 49 LONG “B ? ? ? 1 8
€38 166 ‘LONG  “8

o e o o8

CAL 12?? .LONG “B 0
CA8 16?; .LONG *“B 0000000000
CAC 16 SBTTL CRC16 Polynomial Table

CAC 162& POLY_TABLE:

CAC 1655 .LONG

(8 1659 .LONG g sS

i ume

(8 1658 LONG 61441

CCO 1660 .LONG 15360

CC4& 1661 .LONG 18;40

cCc8 1665 .LONG 58369

CCC 166 .LONG &9961

CDO 1664 .LONG g 648

(D& 1665 .LONG 0750

CD8 1669 .LONG 46081

CDS 166 .LONG 0480

CE0 1668 .LONG 9937

CE4 1669 .LONG 4817

CE8 1670 .LONG 17408

CEC 167N

CEC 167% XW_END:

CEC 167 .END

"§3E-108¢ 88:31:28 YORIVER. SRESRUDRIVER. man; 1

ETX,ENQ
gof, Syn, ETB

Page
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XWORIVER - BSC DUP11 Device Driver 16-SEP=1984 00:24: AX/VMS Macr 4=
Symbol table g-SEP-19g& 88:51:33 !oaxve..53212u821v22.n..;1 (4)
1333 s o a 02 DYNSC _DDB =

$30P s DYNSCTDPT H ?

ABEOT =z DYNSCTUCB s 1

ABORT _CUR n EBCAKD = 7
ABORT_NO_DSR R EBCAK] =z ?1
ALLOCTSETUP EBCDCI s 1

ASCSP™ =z o Eacoci s 1;

ATS _UBA z 1 EBCDC = 1

BADKCK z g EBCOLE = 10

BAD_COMP 8 - 0 EBCENQ = 9

BAD_CRC 984 R EBCEOT z

BAD_MODIF IER 888 892 R EBCESC = 7

BLK CHECK 14 R EBCETB z

CANCEL _CUR 00007 6 & EBCETX z

CCHRMASK 000 s CR 0 EBCHT = 8 80

COMPLETE 000079C R 03 EBCIGS z 10
COMP_GOOD 800007 DR 0 EBCIRS = 0008015
COMP_GOOD_AB 000078F R 0 EBCITB s °°8 01F
COMP_GOOD_TGL 800007 F R 0 EBCNAK = 0000003D

CON_RESP = 0000000€ EBCNL = 0888015
CRBSL_INTD = 00000024 EBCRVI = 0000007C
CRBSL_INTD2 = 00000048 EBCSLH = 0080081
DDBSLDDT = 0000000C EBCSOM = 00000001
DEVSM_AVL teeennnr X EBCSP = 00000040
DEVSM_IDV ceenenne X EBCSTX = ooooo%

DEVSM 0DV ceensnee X 0 EBCSYN = 000000

DLE_STX CRC = 00000123 EBCWACK = 00000068
DPTSC_LENGTH = 000000 ERLSDEVICERR seasaenr X 03
DPTSC VERSION z ERR_RECORD 00000C3C R 03
DPTSIRITAB og EXESABORTIO LI og
DPTSRE INITAB 0 EXESALLOCBUF svannnns X
DPTSTAB 02 EXESBUF QUOPRC tennnnnr X og
DSR_LOST = EXESFINISHIOC LTI T TN S
DUP_CSR_M_BYM E EXESI0FORK sxennnne X 03
DUPCCSR”M_CRI = EXESQIODRVPKT seannnne X 03
DUPZCSR™M_CTS s EXESREADCHK senannnne X 0
DUPZCSR_M_DSR s EXESSE TMODE sennenne X 0
DUPZCSRCM_DTR = EXESSNDEVMSG reennnes X 0
DUP_CSR”M_EOM = EXESWRITECHK sxennenr X
DUPTCSRM_ETM = EXESZEROPARM seennnes X
DUPZCSR™M_HDX B FUNCTAB_LEN = 00000040
DUPZCSRZM_RDN = GARBLED "RESP = 00 8 oo§
DUPZCSRM_REN s GET_RESPONSE 0000613 R °§
DUPCCSR™M_RES z GOOB _TEXT 908 R 0
DUPTCSR™M”RIE z DBSC_CSR = 88
DUPTCSR™M_RTS =z DBSL “OWNER z 4
DUPZCSR™M_SND s DONE FR 03
DUPZCSRN_SOM z 0$K_SRRUNOUT s 0
DUPTCSR™M_SSY s [0SV INTCLOCK =z C
DUPTCSR™M_STM z OSV_LASTBLOCK H A
DUPZCSR™M_TDN = OSV_MAINTLOOP z 9
DUPTCSR™M_TIE s [0SV NOCTSWAIT =z

DUP”CSR”PARM = OSV_NODSRWAIT z

DUP_CSR™RDBF z 0$V_SHUTDOWN s

DUPZCSRTTXCSR = o: s¥AVLoor s 7
DUP"CSR™TXDBF = OSV STARTUP z 6

DYNSC_CR = 0$_READLBLK z 1

22833888888 288238332333333333333333333333383333333
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XWORIVER = BSC DUP11 Device Driver 16-SEP-1984 :24:39 VAX/VMS Macro V04-00 Page 46 3
Symbol table g-ssp-19gl. 88:51:38 !oaxven.snc:lxuonlven MAR: 1 ’ (4)

TMO_XMT _TXTBLK = XMT_START PRO2 8AA R Va
TSTRSCTS z XMTTEXT_QAIT ??g i o
TSTASDIAG ] met R

TSTASDROPRTS = XWS0D 08 RG

TSTASENDPAD = xusn nocuun = A

TSTASIDLE z XWSM_CHA_DSR = 84

TSTASSYN z XWSM_CONKCK s

TSTASTEXT z XWSM DATACK =

uCBs8_DI s XWSM“D1SCON =

UCBSB_ERTCNT = XWSM_EOT =z 1

UCBSB ERTMAX = XWSM_ETXEND = 8

UCBSB_F IPL z 8 8 XWSM_ILLMOD s

UCBSB_SLAVE z XW$M“NODSR = 6

UCBSE “XW_ERRORS 0000 XWSM_P1PE_MARK = 00000020

UCBSB_XW_ITBCNT 80000 XWSM_RVI © = 800 4 8

UCBSB_XW_RISTA 0080 XWSM_TRABINTMO = 0000 81

UCBSB_XW TISTA 800 0A9 XWSM_XPR = 00001 Og

UCBSK”S1ZE z 0880 1 XW$S_ lonoo s oogooo

UCBSL_CRB = 00000024 XWSV_CHA_FDX = 00000000

UCBSL_DEVCHAR = 00000038 XWSVZCHAT XPR = 00000001

UCBSL _DEVDEPEND = 00000044 Xwsv~ 10M0D = 80000000

UCBSL_DPC = 0000009C XW_CANCELIO 0000C67 R 03

UCBSL_FP = 8000000 XW_END 8oogoc§c R 03

UCBSLFR = 0000001 XW_FUNCTABLE 0000038 R 03

UCBSL_SVAPTE = 0000007 XWTINIT 00000560 H 03

UCBSL_XW_ITBPTR 000000A% XW_READ 00000 Ag R 03 00!
UCBSL - XW_SPBF 8000009 XW_RINT 80000A2 RG 03 00!
UCBSL “XW SYCNT 00000A XW-STARTIO 00002F7 R 03 00!
UCBSM_INT = 0000000 XW_TINT 00000880 RG 03 8&
UCBSM_ONL INE s XW_WRITE 00000078 R 03
UCBSA” xu An = 00!
UCBSM X = 00!
UCBSH” xu pm = 38:
UCBSH XW REP s
UCBSV_CARCEL = 8&
UCBSV_INT =
UCBSV_TIN B 00(
UCB‘V XW_AK1 s
UCBSV_XW_NAK B
UCBSV_XW_PIPE =
UCBSV_XW REP =
UCBSW_BCRT =
UCBSW_DEVBUFSIZ =
UCBSW_DEVSTS =
UCBSW_FUNC s 1
UCBSW_STS s 1l
%aw XW_LSTCSR }:
VECSL UNITINIT B 1
XMT_BINARY “ 1
XMT DIAG R 1
XMTZINI_BINARY R 1
XMTTINITDIAG & 1
XMTTINITPTPBSC R 1
XMT-PTPBSC R

XMTZSTART R 8

XMT START_PRO1 R
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XWDRIVER = BSC DUP11 Device Driver 1? -SEP-1984 88 56 5 AX/VMS Macro V04-00 Page 4
Psect synopsis -SEP=-1784 8 L(DRIVER.SR J XWDRIVER.MAR; 1 (

R i T

! Psect synopsis !

bome = o= cscccscsscssd

PSECT name Altocation PSECT No. Attributos
. ABS . 00000800 ( g.) NOPIC USR CON ABS LCL NOSHR NOEXE NORD NOWRT NOVEC BYTE
$ABSS 000000C1 19 o l « 1.) NOPIC USR CON ABS LCL NOSHR EXE RD WRT NOVEC BYTE
$3$105_PROL UE 00008065 ( 8 o) i ( i .) NOPIC USR CON REL LCL NOSHR EXE RD WRT NOVEC BYTE
sss11s_oa VER 00000CEC (¢ 3308.) ( 5.) NOPIC WUSR CON REL LCL NOSHR EXE RD WRT NOVEC LONG
e L R T N
i Performance indicators i
Phase Page faults CPU Time Elapsed Time
Initialization 29 00:00:00.05 00 00 01.38
Command processing 108 00:00:0?.52 gi.sg
Pass 1 510 00:00:15.08 00 00 o
Symbol table sort 0 00:00:8;.09 00:00: 1?.20
Pass 2 310 00:00:03.89 00:00:13.40
Symbol table output 37 00:00:00.19 00:00:00.49
Psect synopsis output 3 00:00:00.02 00:00:00.02
Cross-reference output 0 00:00:00.00 00:00:00.00
Assembler run totals 99 00:00:21.84 00:01:21.76

tho working set Limit was 2250 pages.

130702 bytes (256 pages) of virtual memory uere used to buffer the intermediate code.

Thorc were 110 pages of symbol table space all ocated to hold 1930 non-local and 129 local symbols.
1734 source Lines were read in Pass 1, produci ngs object records in Pass 2.

38 pages of virtual memory were used to define macros.
fmm e m e e m e ———— +
i Macro library statistics ;
Macro Library name Macros definod
$ZSSSDUA§8 SYS.0BJILIB.MLB;1 22
~$2558DUA28: [SYSLIBISTARLET.MLB; 2 9
TOTALS (all Libraries) n

2032 GETS were required to define 31 macros.
There were no errors, warnings or information messages.
MACRO/LIS=LISS:XWDRIVER/0BJ=0BJS:XWDRIVER MSRCS:EBCDEF/UPDATE=(ENHS:EBCDEF ) +MSRCS: XWDRIVER/UPDATE=(ENHS : XWDRIVER) +EXECMLS/LIB

o
-
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